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NLIST M(C,MD,CND
LIST  ME

.ENABL ABS
-ENABL _AMA
$SWR=167400

.TITLE MAINDEC-11-CNIBA-A
;*COPYRIGHT (C) 1982
;*DIGITAL EQUIPMENT CORP.
*HAYNARD MASS. 01754

tPROGRAH 8Y EDWARD C. BADGER

tTHIS PROGRAM WAS ASSEMBLED USING THE PDP-11 MAINDEC SYSMAC
tPACKAGE (MAINDEC~11-DZQAC-C3), JAN 19, 1977,

iru-
;THIS VERSION LAST EDITED - DEC, 1982

SBTTL OPERATIONAL SWITCH SETTINGS
SWITCH USE

15 HALT ON ERROR

14 LOOP ON TEST

13 INHIBIT ERROR TYPEOUTS
1 INHIBIT ITERATIONS

10 BELL ON ERROR

9 LOOP ON ERROR

8 LOOP ON TEST IN SWR<7:0>

.SBTTL TRAP CATCHER

lll.‘."’l

.=0

;*ALL UNUSED LOCATIONS FOM 4~776 CONTAIN A ''.+2'°
;*AND "JSR PC,RO'* SEQUENCE TO CATCH ILLEGAL INTERRUPTS,
:*AND INTERRUPTS TO THE WRONG VECTOR.
:*bgg?gégN O CONTAINS A O TO CATCH IMPROPERLY LOADED
i

"=4
.WORD  IOTRD,200

DISPREG: .WORD 0

SWREG: .WORD O

+HANDLE BUSS ERROR.

;s SOFTWARE DISPLAY REGISTER.
s s SOFTWARE SWITCH REGISTER.

.=100

.WORD  104,200,2 :IF "B EVENT'® ON Q-BUS IS
sCONNECTED, WE NEED A WAY Of

.=200 ;IGNORING ITS INTERRUPTS.

JMP START

.SBTTL BASIC DEFINITIONS

é;igéIIA%1SBDRESS OF THE STACK POINTER st+ 1100 wvev
.EQUIV EMT,ERROR ;:BASIC DEFINITION OF ERROR CALL
.EQUIV 10T,SCOPE c:BASIC DEFINITION OF SCOPE CALL

SEQ 0002
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CNIBAA.P1 10-DEC-~82 15:35 BASIC DEFINITIONS SEQ 0003
1)
Q) s *MISCELLANEOUS DEFINITIONS
(1) 000011 HT= 11 :.CODE FOR HORIZONTAL TAB
(1) 000012 LF= 12 s.CODE FOR LINE FEED
(1) 000012 CR= 15 ;. CODE FOR CARRIAGE RETURN
(1) 000200 CRLF= 200 :.CODE FOR CARRIAGE RETURN-LINE FEED
(1) 177776 PS= 177776 s ;PROCESSOR STATUS WORD
(1) LEQUIV PS PSW
1) 172774 STKLMT= 177774 s:STACK LIMIT REGISTER
1) 177772 PIRQ= 177772 s ;PROGRAM INTERRUPT REQUEST REGISTER
1) 177570 DSWR= 177570 s ;HARDWARE SWITCH REGISTER
(1) 177570 DDISP= 177570 s ; YARDWARE DISPLAY REGISTER
(1) ;tveee THE FOLLOWING ODT START ADDRESS FOR SBC 11/21 IS ADDED
(1) 170000 opTST=_ 170000
(N : *GENERAL PURPOSE REGISTER DEF INITIONS
(1) 000000 RO= 20 : GENERAL REGISTER
(1) 000007 R1= 21 s ;GENERAL REGISTER
(1) 000002 R2= %2 s ;GENERAL REGISTER
(1) 000003 R3= 13 s GENERAL REGISTER
1) 000004 Ré&= 24 s sGENERAL REGISTER
(1) 000005 RS= x5 s ;GENERAL REGISTER
(1) 000006 R6= 26 s ;GENERAL REGISTER
1) 000007 R7= X7 s ;GENERAL REGISTER
(1) 000006 SP= %6 s :STACK POINTER
g}; 000007 PC= X7 s ;PROGRAM COUNTER
(1) s *PRIORITY LEVEL DEFINITIONS
(1) 000000 PRO= 0 ;;PRIORITY LEVEL 0
(1) 000040 PR1= 40 :sPRIORITY LEVEL 1
(1) 000100 PRZ= 100 ::PRIORITY LEVEL 2
(1) 000140 PR3= 140 ssPRIORITY LEVEL 3
qp) 000200 PR4= 200 s:PRIORITY LEVEL 4
(1) 000240 PR5= 240 ;;PRIORITY LEVEL 5
(1 000300 PR6= 300 ::PRIORITY LEVEL 6
E}; 000340 PR7= 340 :;PRIORITY LEVEL 7
1) s*"'SWITCH REGISTER'' SWITCH DEFINITIONS
1) 100000 SW15=" 100000
(1) 040000 SWi4= 40000
(1) 020000 swi3= 20000
(1) 010000 Swi2= 10000
(1) 004000 SWil= 4000
(1) 002000 Sw10= 2000
(1) 001000 Sw09= 1000
(1) 000400 Sw08= 400
(1) 000200 Swo7= 200
(1) 000100 Sw06= 100
(1) 000040 SWi5= 40
(1) 000020 Swié= 20
(1) 000010 sWwo3= 10
(1) 000004 sWi2= 4
(1) 000002 swli= 2
(1) 000001 swoo= 1
(1) -EQUIV SW09,S5w9
(1) .EQUIV SW08,Sw8
(M .EQUIV SW07,5w7
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CNIBAA.P11 10-DEC-82 15:35 BASIC DEFINITIONS SEQ 0004

(1) LEQUIV SW06,SwW6
) EQUIV SW05,SWS
) EQUIV SW0&,SWé
) LEQUIV SW03,sw3
() LEQUIV SW02,>sw?
(1) LEQUIV Sw01,sw1
2}; LEQUIV $SW00,Sw0
(1) :*DATA BIT DEFINITIONS (BITOO TO BIT15)
) 100000 BIT15= 100000
(1) 040000 BIT14= 40000
1) 020000 BIT13= 20000
(1) 010000 8IT12= 10000
(1) 004000 BIT11= 4000
(1 002000 BIT10= 2000
(1) 001000 BIT09= 1000
(1) 0004600 BIT08= 400
(1) 000200 BTT07= 200
1) 000100 BIT06= 100
(1) 000040 BIT0S= 40
(1) 000020 BITO4= 20
(1) 000010 BIT03= 10
) 000004 BIT02= &
(1) 000002 BITO1= 2
1 000001 BITO0= 1
(1) LEQUIV BIT09.BIT9
(1) .EQUIV B8IT08,BIT8
(1) .EQUIV BIT107,BIT7
(1) EQUIV BIT06,81T6
1) .EQUIV BIT05,BITS
(1) .EQUIV BIT04.BIT4
(1) .EQUIV BIT03,BIT3
(1) .EQUIV BIT02,BIT2
(1) .EQUlv BITO01,BIT!
{}; .EQulv BIT00.BITO
1) :*BASIC "'CPU'* TRAP VECTOR ADDRESSES
(1) 000004 ERRVEC= 4 ::TIME QUT AND OTHER ERRORS
(1) 000010 RESVEC= 10 ::RESERVED AND ILLEGAL INSTRUCTIONS
(1) 000014 TBITVEC=14 ST BIT
(1) 000014 TRTVEC= 14 ::TRACE TRAP
(1) 000014 BPTVEC= 14 : :BREAKPOINT TRAP (BPT)
(1) 000020 10TVEC= 20 < S INPUT/QUTPUT TRAP (]OT) #«SCOPEw+
1) 000024 PWRVEC= 24 ::POWER FAIL
(1 000030 EMTVEC= 30 s :EMULATOR TRAP (EMT) ++ERROR*+
(1 000034 TRAPVE (=34 <" TRAP'' TRAP
(1) 000060 TKVEC= 60 ::TTY KEYBOARD VECTOR
(1) 000064 TPVEC= 64 --TTY PRINTER VECTOR
(1) ;eevas  THE FOLLOWING BREAK VECTOR AND LINE CLOCK VECTOR ARE INCLUDED
(1) 000100 LKVEC= 100 ;sLINE CLOCK VECTOR
(1) 000140 BRKVEC= 140 ::BREAK VECTOR
s§}6 000240 PIRQVE(C=240 + :PROGRAM INTERRUPT REQUEST VECTOR
5721 174100 ABASE= 174100 :VER:0
5722 000320 AVECT1= 320 :VER:0
5723 000200 APRIOR= 200

— ——— ——— — — ——
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BASIC DEFINITIONS SEQ 0005

$TN=1

.SBTTL ACT11 HOOKS

FAAAAAAALAS SRS ASARARRARARARAAAAR AR R AR RdRlRRlld)

HOOKS REQUIRED BY A(T11

$SVP(=,
.=46
$ENDAD
.=52
.WORD
.=$SVP(
.=1000

:SAVE PC
:21)SET LOC.46 TO ADDRESS OF SENDAD IN .SEOP

0 ::2)SET LOC.52 TO ZERO
:: RESTORE PC

.SBTTL APT PARAMETER BLOCK

NAAAAALAARAR AL RARAARR AR AR R ARl RRARRRllitddlitds

SET LOCATIONS 24 AND 44 AS REQUIRED FOR APT

A AAAAAAS AR AR AR ARl AR ARttt iR iRt ditdd)

¢+ SAVE CURRENT LOCATION

s.SET POWER FAIL TO POINT TO START OF PROGRAM
:sFOR APT START UP

:-POINT TO APT INDIRECT ADDRESS PNTR.

s:POINT TO APT HEADER BLOCK

soRESET LOCATION COUNTER

ML AAAALA AR A SRS AR ARl ARl iltldlisaRitid ]

;SETUP APT PARAMETER BLOCK AS DEFINED IN THE APT-PDP11 DIAGNOSTIC

s INTERFACE SPEC.

$APTHD:
$HIBTS:
$MBADR:

$TSTM:

SPASTM:
SUNITM:

.WORD
.WORD
.WORD
.WORD
.WORD
.WORD

0 :;TWO HIGH BITS OF 18 BIT MAILBOX ADDR.

SMAIL . :ADDRESS OF APT MAILBOX (BITS 0-15)

60. s:RUN TIM OF LONGEST TEST

120. ;:RUN TIME IN SECS. OF 1ST PASS ON 1 UNIT (QUICK VERIFY)

120. :-ADDITIONAL RUN TIME (SECS) OF A PASS FOR EACH ADDITIONAL UNIT
SETEND-SMAIL/2 ;;LENGTH MAILBOX~ETABLE (WORDS)
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A 4822223232240 d300df0RRRRARRRRRR R R Rl RRRRRRRRRddRRRRdd] ]

s«THIS TABLE CONTAINS VARIOUS COMMON STORAGE LOCATIONS

s *USED

$CMTAG:

STSTNM:
$SERFLG:

$ICNT:

$LPADR:
$LPERR:
SERTTL:
SITEMB:
$ERMAX :
$ERRPC:
$GDADR:
$BDADR:
$GDDAT:
$BDDAT:

$AUTOB:
$INTAG:

SWR:

DISPLAY:

$TKS:
$7KkB:
$TPS:
$TPB:
$NULL :

$FILLS:

SFILLC:
$TPFLG:

STIMES

.=1100

.WORD
.BYTE
.BYTE
-WORD
-WORD
.WORD
-WORD
.BYTE
.WORD
-WORD
-WORD
-WORY
-WORD
-WORD
-WORD
.BYTE
.BYTE
.WORD
-WORD
- WORD
177560
177562
177564
177566
.BYTE
.BYTE

.BYTE

LBYTE
0

SESCAPE:0

$BELL:
$QUES:
$CRLF:
$LF:

.ASCIZ
LASCII
.ASCII
.ASCIZ

IN THE PROGRAM.

(slelelelelalelelalel lolololelelele]le

O
own
—
w0
O

'éCONTAlNS ¥ Of

O =ive O

<207><377><377>
/?/

<15

<12>

s s START OF

:;CONTAINS
;;CONTAINS
::CONTAINS
2 :CONTAINS
2 :CONTAINS
2 :CONTAINS
J;CONTAINS
2 CONTAINS
: s CONTAINS
JsCONTAINS
s CONTAINS
J:CONTAINS
s :CONTAINS

COMMON TAGS

THE TEST NUMBER

ERROR FLAG

SUBTEST ITERATION COUNT
SCOPE LOOP ADDRESS
SCOPE RETURN FOR ERRORS
TOTAL ERRORS DETECTED
ITEM CONTROL BYTE

MAX. ERRORS PER TEST

PC OF LAST ERROR INSTRUCTION
ADDRESS OF 'GOOD' DATA
ADDRESS OF 'BAD' DATA
*CJ0D' DATA

'BAD' DATA

; ;RESERVED==NOT TO BE USED

s;A"TOMATIC MODE INDICATOR
¢ s INTERRUPT MODE INDICATOR

. cADDRESS OF SWITCH REGISIER

s sADDRESS OF DISPLAY REGISTER
J:TTY KBD STATUS

;:TTY KBD BUFFER

;:TTY PRINTER STATUS REG. ADDRESS
:2TTY PRINTER BUFFER REG. ADDRESS

;;CONTAINS

NULL CHARACTER FOR FILLS

FILLER CHARACTERS REQUIRED ,

2 INSERT FILL CHARS. AFTER A "LINE FEED'’

2 'TERMINAL AVAILABLE'® FLAG (BIT<07>=0=YES)
s:MAX. NUMBER OF ITERATIONS

s ;ESCAPE ON cRROR ADDRESS

;:CODE FOR
ssQUESTION
s :CARRIAGE

c;LINE FEED

BELL
MARK
RETURN

A ARl 2d2 2202 AR 2R 0222220 d R 0RRRd R0 RRR ]

“SBTTL APT MAILBOX-ETABLE

A AAAAAAAAASE AL AAAAAAAARAAAAALAARALARRARALARRRARRARR SRRt Rl d)

;:APT MAILBOX

"EVEN
$MAIL:

$MSGTY:
$FATAL :
$TESIN:

$PASS:

$DEV(T:

SUNIT:

.WORD
.WORD
+WORD
.WORD
+WORD
-WORD

AMSGTY
AFATAL
ATESTN
APASS
ADEVCTY
AUNIT

:;MESSAGE TYPE CODE
::FATAL ERROR NUMBER
::TEST NUMBER
::PASS COUNT
$:DEVICE COUNT
::1/70 UNIT NUMBER

SEQ 0006
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CNIBAA.P'1 10-DEC-82 15:35 APT MA]LBOX-ETABLE SEQ 0007
(2) 003210 000000 $MSGAD: .WORD  AMSGAD ;;MESSAGE ADDRESS
(2) 001212 000000 $MSGLG: .WORD  AMSGLG ;;MESSAGE LENGTH
(2) 001214 SETABLE: ::APT ENVIRONMENT TABLE
(2) 001214 000 S$ENV: .BYTE AENV J :ENVIRONMENT BYTE
(2) 001215 000 $ENVM: _BYTE AENVM
(2) ::ENVIRONMENT MODE BITS
(2) 001216 000000 $SWREG: .WORD ASWREG ;:APT SWITCH REGISTER
(2) 001220 000000 $USWR: .WORD AUSWR JsUSER SWITCHES
(2) 001222 000000 $CPUOP: .WORD ACPUOP ;;CPU TYPE,OPTIONS
(2) . BITS 15=-11=CPU TYPE
2) e 11/04=01,11/705202,11/720=03,11/40=04,11/45=05
(2) i 11/70=06,PDC=07,0=10
2) o BIT 10=REAL TIME CLOCK
(2) X BIT O9=FLOATING POINT PROCESSOR
(2) . BIT B=MEMORY MANAGEMENT
(2) 001224 000 $SMAMS1: _BYTE  AMAMST ;.HIGH ADDRESS.M.S. BYTE
(2) 001225 000 SMTYP1: .BYTE  AMTYP1 ;:MEM. TYPE.BLK#1
(2) ot MEM.TYPE BYTE -= (HIGH BYTE)
(2) ;e 900 NSEC CORE=001
(2) B 300 NSEC BIPOLAR=002
2) J 500 NSEC M0S=003
(2) 001226 000000 $MADR1: .WORD  AMADR1 ;:HIGH ADDRESS.BLK#1
(2) it MEM.LAST ADDR.=3 BYTES,THIS WORD AND LOW OF ‘‘TYPE'' ABOVE
(2) 001230 000 SMAMS?: .BYTE  AMAMS? ::HIGH ADDRESS.M.S. BYTE
(2) 001231 000 SMTYP2: .BYTE  AMTYP2 ::MEM.TYPE,BLK#?
(2) 001232 000000 SMADR2: .WORD  AMADR2 ;.MEM.LAST ADDRESS,BLK#2
(2) 001234 000 $MAMS3: _BYTE  AMAMS3 . :.HIGH ADDRESS.M.S.BYTE
(2) 001235 000 $SMTYP3: .BYTE AMTYP3 .:MEM.TYPE.BLK#3
(2) 001236 000000 SMADR3: .WORD  AMADR3 ;;MEM_LAST ADDRESS,BLK#3
(2) 001240 000 $SMAMSS: .BYTE  AMAMSSL  ;;HIGH ADDRESS . M.S.BYTE
(2) 001241 00C $SMTYP4: .BYTE AMTYPL ;. MEM.TYPE ,BLKAG
(2) 001242 000000 $MADRG4: .WORD  AMADRG  ;;MEM.LAST ADDRESS,BLK#4
(2) 001244 000320 SVECT1: .WORD AVECT1 ;:;INTERRUPT YECTOR#1,BUS PRIORITYM
(2) 001246 000000 SVECT2: .WORD AVECT2 ::INTERRUPT VECTOR#28US PRIORITY#?
(2) 001250 174100 $BASE: .WORD ABASE
(2) ::BASE ADDRESS OF EQUIPMENT UNDER TEST
(2) 001252 000000 $OEVM: _WORD ADEVM  ::DEVICE MAP
(2) 001254 000000 $(DW1: .WORD ACDW1  ::CONTROLLER DESCRIPTION WORD#1
g%; 001256 SSEE??:
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t

2;; .SBTTL ERROR POINTER TABLE
! (1) J*THIS TABLE CONTAINS THE INFORMATION FOR EACH ERROR THAT CAN OCCUR.
(1) s*THE INFORMATION IS OBTAINED BY USING THE INDEX NUMBER FOUND IN
(1) :*LOCATION SI/EMB, THIS NUMBER INDICATES WHICH ITEM IN THE TABLE IS PERTINENT,
(1) ;*NOTE1: IF SITEMB IS O THE ONLY PERTINENT DATA IS (SERRPC).
2}; :*NOTEZ: EACH ITEM IN THE TABLE CONTAINS & POINTERS EXPLAINED AS FOLLOWS:
(1) o EM ;:POINTS TO THE ERROR MESSAGE
(1) o DH ;+POINTS TO THE DATA HEADER
(1) o ® DT ;sPOINTS TO THE DATA
213 M DF ;sPOINTS TO THE DATA FORMAT
1)
(1) 001256 $ERRTB:
5733
5737
5738 JITEM 1
5739
5740 001256 012216 EM1 ;18S FUNCTION ERROR
5741 001260 012437 DH1 :TEST ERRPC  IB ADDR
5742 001262 012640 DT1 JSTESTN,SERRPC, IBS
g;zz 001264 012710 DFO sALL NUMBERS ARE IN OCTAL FORM,
5745 JITEM 2
5746
5747 001266 012244 EM2 ;18D FUNCTION ERROR
5748 001270 012437 DH1 s TEST ERRPC I8 ADDR
5749 001272 012640 pT1 JSTESTN,SERRPC,18S
g;g? 001274 012710 DFO ;ALL NUMBERS ARE IN OCTAL FORM,
5752 JITEM 3
5753
5754 001276 012272 EM3 :18S DATA ERROR
5755 0013C0 012505 DH3 JTEST ERRPC  GOOD BAD
5756 001302 012654 DT3 JSTESTN,SSRRPC,SGDDAT ,SBDDAT
g;gg 001304 012710 DFO sALL NUMBERS ARE IN OCTAL FORM,
€759 JITEM 4
5760
5761 001306 012314 EM4 ;18D DATA ERROR
5762 001310 012505 DH3 STEST LERRPC  GOOD BAD
5763 001312 012654 D13 JSTESTN,SERRPC ,SGDDAT ,$SBDDAT
g;gg 001314 012710 DFO JALL NUMBERS ARE IN OCTAL FORM,
5766 JITEM S
5767
5768 001316 012336 EMS ;iBS/IBD ADDRESS ERRCR
5769 001320 012542 DHS :TEST  ERROR PC  ADDRESS
5770 001322 012666 DTS ;STSTNM,SERRPC, IBS
g;;é 001324 012710 DFO JALL NUMBERS ARE IN OCTAL FORM,
5773 JITEM 6
5774
5775 001326 012366 EM6 ;18WC/IBCA DATA ERROR
5776 001330 012505 DH3 STEST ERRPC  GOOD BAD
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001332
001334

001336
001340
001342
001344

001346
001350
001352
001354
001356
001360
001362
001364
001366
001370
001372
001374
001376
001400

001402
001404
001406
001410

001412
001414
001416
001420

001422

001422
001426
001430

012654
012710

(olelsle)
— b b

1
7
7
1

(o 1o JV IV, ]

4
5
6
7

OO

174100
174102
1764104
174106
000320
000324
000330
000334
174110
174112
000340
000344
000350
000354

000322
000326
000332
000336

000342
000346

000352
000356

012706 001100
005026
022706 001140

J
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ERROR POINTER TAE_E

18S:
18D:
18WC:
IBCA:
VECTA:
VECTB:
VECTC:
VECTD:
I1BSZ:
IBDZ:
VECTAZ2:
VECTB?:
VECT(Z:
VECTDZ:

PRA:
PRB:
PRC:
PRD:

PRAZ:
PRBZ:
PR(2:
PRDZ2:

START:
LSBTTL
;. CLEAR

DT3
DFO

JITEM
EmM?7
DH?7
01?7
DFO

7

;STESTN, SERRPC,8GDDAT ,$BDDAT
sALL NUMBERS ARE [N OCTAL FORM,

: INTERRUPT ERROR

sTEST

ERRPC  T0 FROM ADDR.

s TSTNM_#ERRPC,TRTO, TRFRO
sALL NUMBERS ARE IN OCTAL FORM,

.SBTTL REG ADODRESS AND COMMON TAGS
sWARNING IF DEVICE # IS AT DIFFERENT ADDRESS OR VECTOR
;DO NOT PATCH THESE LOCATIONS = SEE PROGRAM DOCUMENTATICN.

ABASE :>NO
ABASE+2 ;>PATCHES

-WORD
-WORD
.WORD
.WORD
.WORD
-WORD
.WORD
.WORD
+WORD
.WORD
.WORD
.WORD
-WORD
-WORD

sVECTOR

.WORD
.WORD
.WORD
.WORD

.WORD
-WORD
.WORD
.WORD

.SBTTL

<;CONTROL AND STATUS REGISTER.

<;DATA REGISTER.

ABASE +4 :ADDRESS RESERVED FOR

ABASE +6 ;:FUTURE USE

AVECT1 ;>ALLOWED <:VECTOR ADDRESS.
AVECT1+4 ;>HERE! <;VECTOR ADDR. +4.
AVECT1+10

AVECT1414

ABASE+10

ABASE+12

AVECT1+20

AVECT1+424

AVECT1+30

AVECT1+34

ADDRESSES +2 LOCATIONS.

AVECT1+2 JNOTE: DO NOT ATTEMPT TO PATCH
AVECT1+6 : THESE LOCATIONS IF A VECTOR
AVECT1+12 H VARYIES . ALTER LOCATION
AVECT1+16 : SVECT1:',

AVECT1+22 : IF TEST MODULE VECTOR IS
AVECT1426 : DIFFERENT,YOU MUST CHANGE
AVECT1+32 LOCATION “VECTAZ2:'".
AVECT1+36

PROGRAM START

INITIALIZE THE COMMON TAGS
THE COMMON TAGS ($CMTAG) AREA
s:FIRST LOCATION TO BE CLEARED
:;CLEAR MEMORY LOCATION

MOV
CLR
Mp

#$CMTAG,R6

(R6)+

#S5WR,R6 ;;DONE?

SEQ 0009
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MAINDEC-11-CNIBA-A MACY1
CNIBAA.P1T 10-DEC~82 15:35 INITIALIZE THE COMMON TAGS SEQ 0010
001434 001374 BNE .=6 :;LOOP BACK IF NO
001436 012706 001100 MOV #STACK,SP ¢:SETUP THE STACK POINTER
..INITIALIZE A FEW VECTORS
001442 012737 007450 000020 #$SCOPE ,a# I0TVEC ..IOT VECTOR FOR SCOPE ROUTINE
001450 012737 000300 000022 HOV #PR6,a#10TVEC+2 ;;LEVEL 6
001456 012737 007126 000030 MoV #SERROR ,@¥EMTVEC” ; ;EMT VECTOR FOR ERROR ROUTINE
001464 012737 000300 000032 81702 MOV #PRG, RENTVEC+Z ; :LEVEL 6
001472 012737 012136 000034 MOV #STRAP ,a#TRAPVEC ..TRAP VECTOR FOR TRAP CALLS
001500 012737 000300 000036 MOV #PRG, @ TRAPVEC+2; LEVEL 6
001506 012737 0117210 000024 MOV #$PWRDN , 3#PWRVEC ..POUER FAILURE VECTOR
001514 012737 000300 000026 MOV #PRG,@¥PWRVEC+2 ; ;LEVEL 6
001522 005037 001160 CLR STIMES ssINITIALTZE NUMBER OF ITERATIONS
001526 005037 001162 CLR SESCAPE ssCLEAR Th{ ESCAPE ON ERROR ADDRESS
001532 112737 000001 001115 MOvVB #1,SERMAX ssALLOW ONE ERROR PER TEST
001540 012737 001540 001106 MoV l. SLPADR ::INITIALIZE THE LOOP ADDRESS FOR SCOPE
001546 012737 001546 001110 Mov .SLPERR sSETUP THE ERROR LOOP ADDRESS

:sSIZE FOR A HARDHARE SWITCH REGISTER. IF NOT FOUND OR IT IS
:cEQUAL TO A *'=1*', SETUP FOR A SOFTWARE SWITCH REGISTER.

Wt e W N gt o N Nt N N Nt b S Nl S Nat Nutl Nt St Nt N Nt Nt Nt Nl N al Nt Nl NP il il it S St ot ot

P N Y Y Y e Y ettt el el etatetalatatatatatalatatatalatatata talatata te)
NONNIRN=PINNININI NI NN NN PNINININI N = b b b b b b cad b b ed e oed b d b

001554 013746 000004 MOV a#ERRVEC,-(SP) ;:SAVE ERROR VECTOR
001560 012737 001614 000004 MOV #64S ,3#ERRVEC  ::SET UP ERROR VECTOR
001566 012737 177570 001140 MOV #OSWR, SWR P:SETUP FOR A HARDWARE SWICH REGISTER
001574 012737 177570 001142 MOV #DDISP,DISPLAY ::AND A HARDWARE DISPLAY REGISTER
001602 022777 177777 177330 CMP #-1,3SWR ::TRY TO REFERFNCE HARDWARE SWR
001610 001012 BNE 66$ *SBRANCH IF NO TIMEOUT TRAP OCCURRED
‘AND THE HARDWARE SWR IS NOT = =1
001612 000403 BR 65% *:BRANCH IF NO TIMEOUT
001614 012716 001622 648: MOV #65$, (SP) P:SET UP FOR TRAP RETURN
001620 000002 RTI
001622 012737 000176 001140 658: MOV ¥SWREG, SWR ;:POINT TO SOF TWARE SWR
001630 012737 000174 001142 MOV #DISPREG,DISPLAY
001636 012637 000004 668: MOV (SP)¢,a#ERRVEC ; ;RESTORE ERROR VECTOR
001642 005037 001202 CLR $PASS :CLEAR PASS COUNT
001646 132737 000200 001215 BITB  WAPTSIZE,SENVM ..resr USER SIZE UNDER APT
001654 001403 BEQ 67% *YES,USE NON-APT SWITCH
(2 881222 012737 001216 001140 o7 MOV #SSWREG, SWR TINO,USE APT SWITCH REGISTER

5887 001664 012737 012066 000004 MOv #IOTRD,ERRVEC  ;SET TO HANDLE BUS ERRORS.

gggg 001672 012737 000200 000006 MOV #200,ERRVEC+2

5890 001700 013737 001250 001346 MOV $BASE . IBS ;GET BASE ADDR.

5891 001706 013737 001346 001350 MOV IBS, 18D *FIX DATA BUFFER=

5892 001714 062737 000002 001350 ADD 42,180 TCSR+2

5893 001722 013737 001350 001352 MOV 18D, IBWC

5894 001730 062737 000002 001352 ADD #2.,18WC

5895 001736 033737 001352 001356 MOV 1BWC, IBCA

5896 001744 062737 000002 001354 ADD #2,18CA

5897 001752 013737 001244 001356 MOV $VECT1,VECTA  ;GET VECTOR ADDR.

5898 001760 042737 170000 001356 BIC #170000,VECTA  STRIP JUNK

5899 001766 013737 001346 012646 MOV 185, IBSA

5900 001774 013737 001350 012650 MOV 18D, 1BDA

5901 002002 013737 001366 001370 MOV 1852, 1BD2

5902 002010 062737 000002 001370 ADD #2,1802

5903 002016 013737 001356 001360 MOV VECTA VECTB

5904 002024 062737 000004 001360 ADD ¥4, VECTB
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MAINDEC=11-(NIBA-A
CNIBAA.PN

5905
5906
5907
5908
9909
5910
5911
5912
5913
5914
5915
5916
5917
5918
5919
5920

e laleleteleatate le e e e e lal @]

POMNIRLRUNONINININININD = = — =2 N
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002032
002040
002046
002054
002062
002070
002076
002104
002112
002120

002126
002134
002142
002150
002156
002164
002172
002200
002206
002214
002222
002230
002236
002244
002252
002260
002266

002266
002274

002302
002310

002316
002324

002332
002340

002346
002352
002354

002360
002364
002366
002374
002376
002404
002406
002410
002412
002420

10-DEC-82

013737
062737
013737
062737
013737
062737
013737
062737
013737
062737

013737
062737
013737
062737
013737
062737
013737
062737
013737
062737
013737

005227
001033
104401

005737
001012
123727
001406
023727
001005
104406
000403
112737

MACY11 30(1046)

15:35

001360
000004
001362
000004
001372
000004
001374
000004
001376
000004

001356
000002
001402
000004
001404
000004
001406
000004
001372
000002
001412
000004
001414
000004
001416
000004

001402
004700

001404
004700

001406
004700

001410
004700
177777
002422
000042
001214
001140

000001

001362
001362
001364
001364
001374
001374
001376
001376
001400
001400

001402

177036
177054

177024
177042

000001
000176

001134

15-DEC-82

L
16:09 PAGE 57-9

INITIALIZE THE COMMON TAGS

RSTART:

.SBTTL

+SBTTL

66%:
67%:

MOV
ADD
MOV
ADD
MOV
ADD
MOV
ADD
MOV
ADD

MOV
ADD
MOV
ADD
MOV
ADD
MOV
ADD
MOV
ADD
MOV
ADD
MOV
ADD
MOV
ADD

MOV
Mov

MOV
MoV

MOV
MoV

MOV

VECTB,VECTC
#4 VECTC
VECTC,VECTD
#4 VECTD
VECTAZ2,VECTB?
#4,VECTBZ
VECTB2,VECT(2
#4 ,VECTCZ
VECTC2,VECTD?
#4 ,VECTDZ

VECTA,PRA
#2,PRA
PRA,PRB
#4 ,PRB
PRB,PR(
¥4 PRC
PRC,PRD
#4 ,PRD
VECTA2,PRA2
#2.PRAS
PRA2, PRB2
#4 ,PRB2
PRB2,PRC2
#4 ,PRC2
PRC2,PRD2
#4 ,PRD2

;SET UP VECTOR+2 ADDRESSES.

/=RESV-

PRA,QVECTA IRESTORE VECTOR FOR

#4700,3PRA

llLLEGAL INTRO.
RESV-

PRB,aVECTB /RESTORE VECTOR FOR

#4700, 3PRB

;ILLEGAL INTRO.

RESV~
PRC,aVECTC ;/RESTORE VECTOR FOR

#4700,3PRC

/ILLEGAL INTRO.
/=RESV-

PRD,aVECTD :/RESTORE VECTOR FOR

#4700, 3PRD

MOV
TYPE PROGRAM NAME
c.TYPE THE NAME OF THE PROGRAM IF FIRST PASS

INC #-1

BNE 649

TYPE

BNE 66$

CMPB SENV,#1
BEQ 66%

CMP SWR,#SWREG
BNE 67%

GTSWR

BR 67%

Movs #1,$AUTOB

:/ILLEGAL INTRO.

:FIRST TIME?
..BRANCH IF NO

:TYPE ASCIZ STRING

,65%

GET VALUE FOR SOFTWARE SWITCH REGISTER

TST ané? s<ARE WE RUNNING UNDER XXDP/ACT?
:;BRANCH IF YES
:2ARE WE RUNNING UNDER APT?
;:BRANCH IF YES
::SOFTWARE SWITCH REG SELECTED?
:;BRANCH [F NO

;sGEY SOFT-SWR SETTINGS

+:SET AUTO-MODE INDICATOR

SEaQ 0011



MAINDEC-11-CNIBA~-A

CNIBAA.

(1)
(1)
(1)
5938
5939
5940
(3)

(3)
(2)

P~ N
- )
g Y’

5941
5942
5943
5944
5945
5946
5947
5948
5949
5950
5951

(1)

5961

5963
5964

(9, ]

D~~~
o=
VW, R X

(W, 1V,
~ o~ OO
-2 ONON
~ = 00 ~J

F11
002420

002442
002442

002444

002446
002454

002462
00247C
002476

002504
002510

002516
002522
002530
002534

002536
002536

002542

002544
002544

002550

002552

002556
002562

10-DEC-82
000410

000005

000240

012737
012737

012737
12737
1273
13
12

00O OO

737
746
737
005777
012737
005777

000406
062706

104005
062706
104005

012637

012746
012746

ACY1
5:35

000050
002504

000001
000001
002504

000004
002536

176624
002544

176614

000004

000004

000004

000000
002570

1 30(1046)

001160
001106

001102
001200
001110

000004

000004

L
(-82 16:09 PAGE 57-10

15-DE
GET VALUE FOR SOFTWARE SWITCH REGISTER
BR 648 :GET OVER THE ASCIZ
i gss CASCIZ  <CRLF>#MD11-CNIBASAW<CRLF>
RESET
::t*’*tﬁt*'t*ttt*t"**tﬁ't*it*tttttttt*ttt*t*tﬁ**ttt'tttt*.t'tt't
SHTEST 1 «TEST THE ADDRESSABILITY OF THE I8S, IBD REGISTERS
2222322323233 232322232333222223322322422333233223323322323212232322322433233222333233]
$811:  NOP
MOV #50,$TIMES ::D0 50 ITERATIONS
MOV #1$ . SLPADR 3SET SCOPE LOOP ADDRESS
MOV #1,8TSTNM ;SET TEST #1.
MOV #1.8TESTN :DON'T FORGET APT!
MOV #1$, SLPERR
1$: MOV ERRVEC,-(SP)  :SAVE CONTENTS OF ADDR. &
MOV #2$ ,ERRVEC *SET TIME-OUT TRAP VECTOR TO HANDLE
:IN CASE WE TIME OUT WHEN
‘WE ADDR. THE IBv-11
ST 318 ;ADDR THE 1BS, IF NO RESPONSE,
sWILL TRAP TO 2% FROM HERE
MOV #3$ ,ERRVEC :CHANGE FOR ADDRESSING THE IBD REG.
TST al8D :ADDR THE IBD REG.
‘WE'LL TRAP TO 3$ FROM HERE IF BAD.
2 BR 48
) ADD #4,SP :/ADD #4 TO STACK POINTER.
£:$888888888>>> ERROR <<<$$$$$35$$$
ERROR 5 ; /MODULE FAULT DETECTED:
- 1BS REGISTER COULD NOT BE
<ADDRESSED
s :: 85358585884~ ERROR ~~~$$$33383S$
] ADD #6,SP :/ADD #4 TO STACK POINTER.
::9883888888>>> ERROR <<<$35888%5%¢8
ERROR 5 ;/MODULE FAULT DETECTED:
*ADDRESSED
;858558588844 ERROR ~~*$$$383$38$
48: MOV (SP)+,ERRVEC gggrone CONTENTS OF LOC &.
MOV #0,-(SP) */SET CPU PRIORITY ON RETURN
MOV #64$,=(SP) :/SHOW RETURN ADDRESS

SEQ 0012



’

MAINDEC-11-CNIBA-A
CNIBAA.F11

)
(1)
5969
5977
5978
(3)
(4)
(4)
(4)
(4)
(4)
(3)
(2)
(2)
(1)
5979
5980
5981
5982
5983
5984
5985
5986
5987
5988
5989
5990
5991
5992
(1)
5993

1)
(1)
5994
5995

5997
5998
5999

(1)
6000

(]3
6G0 1
6002

6004
6005

002566
002570

002570
002572
002600
002604
002612

002616

002624
002630

002632
002632

002636

002640

002642
002642

002646

002650

MACY11 30(1046)

10-DEC~82 15:35

000002

000004
012737
013746
012737
005777
012737
005777
000407

062706

104005

000403

062706

104005

012637

000010 001160
000004
002632 000004
176534
002642 000004
176524

000004

000004

000004

1
1S-DEC 82 16:09 PAGE 57-11
*TEST THE ADDRESSABILITY OF THE IBS, IBD REGISTERS

RTI +/CAUSE A RETURN (PUTS NEW STATJUS
64%: :/IN STATUS REG.)
MAALAAAALA AR AR AR AASARAl AR Rl iRttt il lldsd
*TE T2 *TEST THAT BASE ADDRESSES +4,+6 RESPOND WHEN ADDRESSED
o

;*EVEN THOUGH THE BASE ADDRESS +4 AND +6 ARE NOT USED,
'*THE IBV11A SHOULD RESPOND TO THEM

tttt'tt*ttt***t.tt*!tit*'t*tt*Q***tttt*t**t*tttt'ttt*ttt'*i‘kﬂ'ttt

iérz SCOPE

MOV #10,8TIMES ;200 10 ITERATIONS
MOV ERRVEC,=(SP) s SAVE CONTENTS OF ADOR 4.
MOV #1% ,ERRVEC :SET TIME OUT TRAP VECTOR TO HANDLE

¢IN CASE WE TIME OUT WHEN WE
;ADDRESS THE [BV=-11 ADDRESSES +4,+6.

TST alBW( ;TEST BASE ADDRESS +4, IF NO RESPONSE
:WILL TRAP TO 1% FROM HERE
MOV #2% ,ERRVEC ;CHANGE FOR ADDRESSING +6 ADDR,
VST aIBCA ;ADDR THE +6 ADDR. = TRAP IF BAD.
B8R 3t JCONTINUE IF GOOD.
1%:
ADD #4,SP J/ADD #4 TO STACK POINTER.
::9988888888>>> ERROR <<<$$583%%888$
ERROR S ;/MODULE FAULT DETECTED:
JBASE ADDR+4 COULD NOTY
;sBE ADDRESSED.
;:989888388%84%* ERROR ~~“$53333833%$
BR 3s
2%:

ADD #6,5P ;/ADD #4 TO STACK POINTER.
;. $9988583888>>> ERROR <<<$33385388%83

ERROR 5 /HOOULS FAULT DETECTED:
LA RYuyR=*O \\MU ’.\'
;8F ADDIESStB

;.9383888888° * FRECR “*°$585385388

3s: MOV (SPie, WUYE( SRESTORE (CNTELTS (F LuC &

SEQ 0013



MAINDEC=11-CNIBA=-A
10-DEC-82 15:35

CNIBAA.P11
6006
6007
3)
5; 002654
1) 002656
6009 002664
6011 002666

6012 002672
6013 002700

1)
1) 002702
15

)

2 002704
) 002706
6020 002714
6022 002716

6023 002722
6024 002730

002732

002734
002736

000004
012737
000005
005037

017737
001401

104003

000004
012737
000005
005037

117737
001401

104004

000004
012737

MACY11 30(1046)

000001 001160

001124
176450 001126

000001 001160

001124
176422 001126

000010 001160

15-DEC-
T2

s EY

tTEST 3

kbt

ST3

ALl

*TEST 4

MLAALE A

TST4

otk

-TESI 5

kAR R

TE15:

B 2
82 16:09 PAGE 57-12
*TEST THAT BASE ADDRESSES +4,+6 RESPOND WHEN ADDRESSED

RERAANRARAARAACCARCAREORANRARRARRARANAAARAAANARERERARCAROAGERY

*TEST THAT IBS IS CLEAR AT INIT OF TESTING
T N s
SCOPE
([+]" #1,8TIMES ::D0 1 ITERATION
RESET s ISSUE SYSTEM INIT.

CLR $GDDAT sEXPECT ZERO CSR,
MOV @1B8S,$BDDAT sREAD CSR.
BEQ TSTé HH

::8835888888>>> ERROR <<<$$$8$33$5$3$

ERROR 3 s/MODULE FAULTY DETECTED:
;185 NOT CLEAR ON INT.

; ;99358588984 ERROR ~~*$$33335558$

LA AR AR AR dARARRRaRid Rl ddliiRiilldiiiidlind])

*TEST THAT IBD IS CLEAR AT INIT OF TESTING
1123422323323 3232023222323232233338233232323232331333123233333323233322321313221331%1;
SCOPE
MOV #1,STIMES 2:00 1 ITERATION
RESET sISSUE SYSTEM INITIALIZE.

CLR $GDDAT JEXPECT ZERO CSR.
MOVB alBD, SBDDAT :READ DBR
BEQ TSTS M

::99858888888>>> ERROR <<<$$5353583$
ERROR & s/MODULE FAULT DETECTED:

;18D NOT CLEAR ON INIT.
5:938538888884~% ERROR ~**333333833$S
T

*TEST THAT BASE ADDRESSES +4,+6 RETURN 2ERO WHEN READ

*BASE ADDRESS +4 AND +6 SHOULD RETURN A ZERO WHEN
*READ. IN THIS TEST WE WILL TRY THAT.

Qt"ttttttttittttt"ti'it"l'i..'.ii.t.".i.."'.i.'..ti.

SCOPE
MOV #10,STIMES ;:00 10 ITERATIONS

SEQ 0014
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MAINDEC~-11-CNIBA-A

CNIBAA.P11

6038 002744
6039 002750
. 6040 002756

002760

6045 002762

6047 002764
6048 002772

002774

(2) 002776

6056 003000
6057 003004
6058 003012
6059 003020
6060 003026
6061 003034

(1)
(1) (23036
063

6065 003040

6067 003042
6068 003050
6069 003054
6070 003062

005037
017737
001402

104006

000405

017737
001401

104006

104003

000412

042777
005037
017737
001401

MACY11 30(1046)
10-DEC~-32 15:35

001124
176376

176364

176342
000001
002001
176322
001124

000001
001124
176266

001126

001126

176334
001124
001126
001126

176276
001126

€. 2
T;S-DEC-SZ 16:09  PAGE 57-13

*TEST THAT BASE ADDRESSES +4,+6 RETURN ZERO WHEN READ

CLR S$GDDAT sEXPECT ZERO RETURN
MOV a18WC,$BDDAT +READ BASE ADDRESS+4
8tQ 1$ sIF 2ERO = GOOD.

;:9998588888>>> ERROR <<<$$$585888$

ERROR 6 s /MODULE FAULT DETECTED:
sSHOULD HAVE READ BACK ZERO FROM
sTHIS ADDR.

2:9958888888°* ERROR ~~~3$335533538$
BR TST6 -

18: MOV a@IBCA,$BDDAT +READ BASE ADDR+6, SHOULD BE ZERO
BEQ TST6 HH
2:3988888388>>> ERROR <<<$$5355$338$S
ERROR 6 s/MODULE FAULT DETECTED:
sSHOULD HAVE READ BACK ZERO FROM
;BASE ADDR+6.
;: 98855388885~ ERROR ~~~$$3$3553538S
P LT T T L T T L T g T Y T R Lt
s*TEST 6 *TEST THAT WE CAN SET TCS, TCS SETS CMD
IR L Rt e L L LR LI LY
TST6:  SCOPE
CLR alB$ sCLEAR CLR
BIS #B170.3IBS ;SET TCS

1$:

BIS #BITO!BIT10,$GDDAT ;EXPECT ONLY TCS AND CMD TO SET
MOV @1BS,$BDDAT sREAD THE IBS.

CMP $GDDAT,$BDDAT  ;DID TCS AND CMD SET?

BR 1$ :YES - CONTINUE

;:3958388888>>> ERROR <<<$$$$5$383$

ERROR 3 s /MODULE FAULT DETECTED:
:TCS AND/OR CMD FAILED TO SET

: ;59995885884 ERROR ~*~$5$535338S
B8R TST7

8IC #8170,aIBS sCLEAR TCS.
CLR $GDDAT SEXPECT TCS AND CMD TO CLEAR
ggg ?g?;.SBDDAT sREAD IBS, DID THEY CLEAR?

SEQ 0015




MAINDEC=-11-CNIBA-A
CNIBAA. P

6071

003064

003066

003070
003074
003102
003110
003116
003124

003126

003130

003132
003140
003144
003152

003154

003156

003160
003164
003172

10-DEC~-82

104003

000004

005077
052777
012737
017737
023737
001402

104003

000412

042777
005037
017737
001401

104003

MACY1?
15:35

176252
000002
000002
176232
001124

000002
001124
176176

176162
000004
000004

30(1046)

176244
001124
001126
001126

176206
001126

176154
001124

D 2
15-DEC-82 16:09 PAGE 57-14
Té *TEST THAT WE CAN SET T(CS, TCS SETS CMD

2:9898888888>>> ERROR <<<$3$8$$283$

ERROR 3 s/MODULE FAULT DETECTED:
sTCS AND/OR CMD FAILED TO CLEAR.

;99988888884 ERROR ~**$$$5$3533$S

WA ALEEAAARRA 22 a2 Rt dRdRtdiddRiidddtiildalilidiiddiiliiisidisddy ]

'nresr 7 *TEST THAT EOP WILL SET

S AAAEALARAR22 2202 ARl ad 20 d0d 2 200 3022280222222 2220 22

TST? SCOPE

CLR alBS JCLEAR CSR.
BIS #B8171,31BS :SET EOP
MOV #BIT1,$GDDAT JEXPECT ONLY EOP TO SET.
MOV a1BS,$8DDAT ;READ I8BS
CMP SGDDAT,$BDDAT :DID EOP SET?
BEQ 18 ;YES = CONTINUE
::9898588888>>> ERROR <<<$$$5$33338$
ERROR 3 ;/MODULE FAULT DETECTED:
:EOP BIT SETTING ERROR.

2:99888888884%* ERROR ~+~$353338388
BR TST10 ¥

1%: BIC #BI1T1,3I8BS ., LEAR EOP
CLR SGDDAT JEXPECT A ZERO CSR.
MOV alBS,$BDDAT JREAD IBS, IS IT CLEAR?
BEQ TST10 ‘s

2:9588888888>>> ERROR <<<$8$5538%%$

ERROR 3 s/MODULE FAULT DETECTED:
-IBS FAILED TO CLEAR

;:998858888884%* ERROR “~~$5353333$$

SRARRRRAANRERRARNR N R C RN RN R RN RN RAAAREAANNANARRAERAARRTORORRACRORY

*TEST 10 *TEST THAT RE WILL SET + CLEAR

MALAAARALR A AR iRl RdlR Al Rl ddRlii iRl it ilddd)

TST10 SCOPE

CLR a18S sCLEAR CSR.
8IS #81702,a1BS :SET _REM
MOV #81702,8GDDAT  ;EXPECT ONLY REM TO StT.

SEQ 0016




E_ 2
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MAINDEC~11-CNIBA=-A MACY11 30(1046) 15=
CNIBAA.PI 10-DEC-82 15:35 110 «TEST THAT RE WILL SET + CLEAR SEQ 0017
6101 003200 017737 76142 001126 MOV 21BS,$BDDAT :READ IBS.
6102 003206 023737 001126 001124 CMP $BDDAT,SGDDAT  :DID REM AND ONLY REM SET?
6103 003214 001402 BEQ 18 *YES = CONTINUE
6104
::9988888888>>> ERROR <<<$3$$38888$
(1
(1) 003216 104003 ERROR 3 ; /MODULE FAULT DETECTED:
6105 SREM BIT SETTING ERROR.
;38588888884 ERROR ~**$$$$$383$$
g}gg 003220 000412 BR TST11 :
6109 003222 042777 000006 176116 18: BIC #B1T02.318S ;CLEAR REM BIT.
6110 003230 005037 001126 CLR $GODAT *EXPECT ZERD CSR.
6111 003234 017737 176106 001126 MOV 218S,$BDDAT TREAD IBS = IS IT CLEAR?
6112 003242 001401 8EQ TSTi1 .
6113
::$888888888>>> ERROR <<<$$33$3$3$$
(1
(1) 003244 104003 ERROR 3 ;/MODULE FAULT DETECTED:
6114 +18S FAILED TO CLEAR.
6116 ;388888888844 ERROR ~~~$$3$3353$S
6117 JINENNENARRNNAN RN RN C RN LR RN RN RN AR RO EANRARRARNORNNRCRERNS
(3) SeTEST 11 «TEST THAT IBC WILL SET AND CLEAR
(3) : ;ttttttttt'tttttttttittttttttittttt'titttttttttttttttttttttttttt
(2) 003246 000004 7ST11: SCOPE
6158
6119 003250 005077 176072 CLR alses :CLEAR CSR.
6120 003254 052777 000010 176064 BIS #B1703,a18BS SSET IBC
6121 003262 012737 000010 001124 MOV #81T03.8GDDAT  -EXPECT ONLY IBC TO BE SET
6122 003270 017737 176052 001126 MOV a18S,$B0DAT :READ IBS.
6123 003276 023737 001124 001126 CMP $GDDAT,$BODAT  :DID IBS SET?
6124 003304 001414 BEQ 18 *YES CONTINUE
6125 003306 012777 000010 176032 MOV #81703.318BS “TRY SETTING IBC AGAIN.
6126 003314 017737 176026 001126 MOV alBS,$BDDAT *MEMORY REFRESH MIGHT HAVE
6127 003322 023737 001124 001126 CMP $SGDDAT,$BDDAT  :GOT IN THE WAY.
6128 003330 001402 BEQ 18
6129
::$888888888>>> ERROR <<<$$383353$$
(N
(1) 003332 104003 ERROR 3 ;/MODULE FAULT DETECTED:
6130 *IBS BIT SETTING ERROR.

;98855388884 ERROR “**$5355533859%
BR TST12 S:

6132 003334 000416
6134 003336 004537 007106 1$: JSR RS ,DELS0 ;DELAY 150 usS.
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*TEST THAT IBC WILL SET AND CLEAR

.WORD 6

MoV #81710!8170,$GDDAT sEXP CMD AND TCS.
MOV @18S,$BDDAY sREAD IBS = IS IT CLEAR?

CMP $GDDAT,$BODAT
BEQ TST12

::9888888888>>> ERROR <<<$$838888%S

ERROR 3 s/MODULE FAULT DETECTED:
s 18S NOT CLEAR AFTER IBC

::9$8885888884~% ERROR ~**$385883888S

sofuARRARANAROTASAARRCERERISECEORANRARRRARSARARRAREIAOACOAANASQCANSENNGSTY

SoTEST 12 «TEST THAT TON (BITO5) AND TKR SET AND CLEAR
::tt'tt.t'ﬁ***'tttitttttttﬁtt*tttttt't.tﬁttttttltititttttttttt'tt
T§T12: SCOPE

CLR aIBS :CLEAR THE CSR.

BIS #8175,31BS SSET TON.

000040 175702 1§:
001124

175672

001126

MOV #BIT5!B1T9,8GDDAT EXPECT ONLY TON AND TKR TO SET.
MOV @18S,$BDDAT sREAD CSR.

CMP SGDDAT,$BDDAT  ;DID THEY BOTH SET?

BEQ 18 sYES - CONTINUE.

::998888883%>>> ERROR <<<$38$83888%8
ERROR 3 :/MODULE FAULT OETECTED:
ERROR IN SETTING TON BIT.

;9588585888 ERROR “*“$55533333$
BR TST13 H

BIC #BIT5,31BS
CLR $GDDAT sEXPECT ZERO CSR.

MOV 21BS,$BODAT ‘DID IT CLEAR?
BEQ TST1$ ¥

1:9888883888>>> ERROR <<<$383358338%$
ERROR 3 :/MODULE FAULT DETECTED:

sCSR FAJLED TO CLEAR.
::9888858888°~* ERROR “~*$3$35$833$S

ettt tRRtRRORtRREOGSRERRECSCERRARRACORNANGERQARAROROARNCCRARNCRRGCACRAGRCRAGY

SeTEST 13 «MAKE SURE WE CAN SET AND CLEAR BIT06 (IE)

MAAAAAL A AL A LALLM AAAARMARAAAAAARIA AR ARARARRLAAARALRR AR R ] L))

sWHEN TON CLEARED, TKR SHOULD CLEAR.

SEQ 0018
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1ST13:

648:

*MAKE SURE WE CAN SET AND CLEAR BITO6 (IE)
SCOPE
:/PR

¢/SET CPU PRIORITY ON RETURN
¢ /SHOW RETURN ADDRESS

MOV #300,-(SP)
Mov #5648 ,-(SP)

RTI :/CAUSE A RETURN (PUTS NEW STATUS
:/IN STATUS REG.)

CLR al8s ;CLEAR CSR.

BIS #8176,d18BS sSET IE.

Mov #8176,3GDODAT ;EXPECT ONLY BIT 6 TO SET.
MoV 8185 ,$BODAT ¢READ IBS.

CMP SGDDAT,$BDDAT  ;DID IE SET?

BEQ 1$ :YES = CONTINUE.

::88858888838>>> ERROR <<<$$$88883SS

ERROR 3 s/MODULE FAULT DETECTED:
;ERROR IN SETTING IE BIT.

é.SSSSSSSSS§Z“ ERROR “‘SSSSSSSSSS

CLR SGDDAT SEXPECT ZERO CSR AFTER.
8IC #8176,318S :1E 1S CLEARED.

MOV @185 ,$BDDAT :READ CSR = IS IT CLEAR?
8EQ TST14 HN

::9588588888>>> ERROR <<<$$5$3855%3$

ERROR 3 ¢ /MODULE FAULT DETECTED:
sFAILED TO CLEAR (SR,

::$585888888°~~ ERROR ~~~$$53353353$

sREAARAANNAAARAEARACERCEECREROAONARRAANRARARACAAARAAARNREARACRANCESR

*TEST 14 «TEST THAT BIT 7 (ACC) CAN BE SET AND CLEARED

AR ALA AL ASR A ARLAR R AR ARl AR AR R AR a Rl )

TST14:

SCr

CLR alB$ sCLEAR CSR.

BIS #8177,818BS sSET ACC.

MOV #B1717,8GODAT EXPECT ONLY ACC TO SET.
MOV 318S,$BDDATY :READ IBS,

CMP $GDDAT,$BDDAT  :DID ACC SET?

BEQ 18 sYES = CONTINUE.

::98885888888>>> ERROR <<<$3383888%$

SEQ 0019
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CNIBAA.PI 10-DEC-82 15:35 T «TEST THAT BIT 7 (ACC) CAN BE SET AND CLEARED SEQ 0020
(1
(1) 003624 104003 ERROR 3 :/MODULE FAULT DETECTED:
6199 <FAILURE IN SETTING BIT 7 (ACC).
1:885$88888844~ ERROR ~~~$3$$35583$$
2585 003626 000412 B8R TST1S 4
6203 003630 042777 000200 175510 18: BIC #BI1T7,318BS :TRY CLEARING ACC.
6204 003636 005037 001124 (LR $GDDAT :EXPECT ZERO CSR.
6205 003642 017737 175500 001126 MOV a18S,$BDDAT :READ IBS, IS IT CLEAR?
6206 003650 001401 BEQ 15115 i3
6207
2:9888888888>>> ERROR <<<$$8888888$
(1
(1) 003652 104003 ERROR 3 ;/MODULE FAULT DETECTED:
6208 :1BS FAILED TO CLEAR.
;2388388888844 ERROR ~+*$$3$835588S
6210
6237
6238
i (S) ::ttttttttttttttttt'Q**ttti'tt*ttttt**iittt*ttQﬁttttt'ttttttttttt
(%) <#TEST 15 *TEST THAT IBD BIT O CAN BET SET + CLEARED
(l.) ;;tttttttttttQtltttt'tttt'ttttittttttttttttitttttttﬁttitttttttt!t
(gg 003654 000004 TST1S: SCOPE
\
(1)
(1) ;/MACRO BDT
(1) 003656 012777 000060 175462 MOV #B174'BITS,3IBS ;/SET TON AND LON.
(1) 003664 012737 000001 001124 MOV #B170,$GDDAT :/WE'RE GONNA TEST BIT 0.
5}; 003672 013777 001124 175450 MOV $GDDAT,31BD :/SET THE BIT.
(1) 003700 117737 175444 001126 MOVB 318D ,$BDDAT +/READ THE IBD.
(1) 003706 123737 001124 001126 CMPB $GDDAT.$BDDAT  :/DID IT GET THRU OK?
g}; 003714 001402 BEQ 1 :/YES = CONTINUE.
(2)
::9938888388>>> ERROR <<<$555$35338%%
(2)
(2) 003716 104004 ERROR 4 ;/MODULE FAULT DETECTED:
(1 :/ERROR IN SETTING I8D BIT 0.
::$888585888°4~ ERROR ~~~$3$833538$
(3) 003720 00412 B8R 1ST16 ¥
(1) 003722 005037 001°24 1$: CLR $GDDAT :/EXPECT 2ERO IRD WHEN
(1) 003726 042777 Cuu001 175414 BIC #31710,a180 :/BIT 0 IS CLEARED.
(1) 003734 117737 175410 001126 MOVB  alBD,$BDDAT ;/READ IBD, IS IT CLEAR?
53; 003742 001401 BEQ TST16 32

;:9888888888>>> ERROR <<<$$53$8338%88
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CNIBAA.P1Y 10-DEC~82 15:35 T15 «TEST THAT [BD BIT O CAN BET SET + CLEARED SEQ 0021
(2)
(2) 003744 104004 ERROR & :/MODULE FAULT DETECTED:
(N sFAILED TO CLEAR I8D.
) ;:8$888888884* ERROR ~4*$9553388$S
6239
(§) JINRRAE AN R ER AR AR T LR RN RN RN RARRARRAARRANANROCCRCRATANARRNOR
(&) ;*TEST 16 «TEST THAT IBD BIT 1 CAN BET SET ¢ CLEARED
(4) ::tttttttttttttttttttt'ttttttttittttttttttttltt'ttttttttttttttttt
z%; 003746 000004 TST16: SCOPE
(M
(1) J/MACRO BDT
(1) 003750 012777 000060 175370 MOV #BIT4L'BITS,3IBS ;/SET TON AND LON,
(1) 003756 012737 000002 001124 MOV #8171 ,3GDDAT s/WE'RE GONNA TEST BIT 1.
g}; 003764 013777 001124 175356 MOV $GDDAT,alBD J/SET THE BIT.
(1) 003772 117737 175352 001126 MOov8e a180D,$8DDAY ;/READ THE IBD.
(1) 004000 123737 001124 001126 (MPB $GDDAT,$BDDAT ;/DID IT GET THRU 0K?
g}; 004006 001402 BEQ 1% s/YES = CONTINUE.
(2)
::3888888888>>> ERROR <<<$$533533%3%8
(2)
(2) 004010 104004 ERROR & s/MODULE FAULT DETECTED:
(1 :/ERROR IN SETTING IBD BIT 1.
2298583858884 ERROR ~~*$$3333883%
(3) 004012 000412 BR 1ST17 M
(1) 004014 005037 001124 1$: CLR $GDDAT J/EXPECT ZERO [BD WHEN
(1) 004020 042777 000002 175322 8IC #8171,318D :/BIT 1 IS CLEARED.
(1) 004026 117737 175316 001126 MOVB 918D ,$BODAT s/READ 1BD, IS IT CLEAR?
8; 004034 001401 BEQ TST17 Y
::9838888388>>> ERROR <<<$$353835$3%$
(2)
(2) 004036 104004 ERROR & s/MODULE FAULT DETECTED:
(1) JFAILED TO CLEAR 1BD.
™ ::88888588884%* ERROR ~~*$353335833S
6240
(5) JINRRAANAEN R E AR ANA AL O RERRREARRRRNRANRERAAARARNRARCCRRCCRECO NS
6) s¢TEST 17 «TEST THAT IBD BIT 2 CAN BET SET + CLEARED
(4) JIRNNERANRNNCERANARE LA TR RN RN ENRRNNANAEERNRACEAANACACERNINIACRECTOETR
f%; 004040 000004 TIST17: SCOPE
(1)
1) ;/MACRO B80T
(1) 004042 012777 000060 175276 MOV #BIT4L!'BITS,alBS ;/SET TON AND LON.
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CNIBAA. P11 10-DEC-82 15:35 11?7 «TEST THAT [BD BIT 2 CAN BET SET + CLEARED SEQ 0022

(1) 004050 012737 000004 001124 MOV #B172,8GDDAT ;/WE'RE GONNA TEST BIT 2.
g}; 004056 013777 001124 175264 MOV $GDDAT,a18D J/SET THE BIT.
(1) 004064 117737 175260 001126 MOVB aIB8D,$BDDAT ;/READ THE I8D.
(1) 004072 123737 001124 001126 (MP8 SGDDAT ,$BDDAT :/DID IT GET THRU OK?
g}; 004100 001602 BEQ 19 :/YES - CONTINUE.
(2)
::9885888888>>> ERROR <<<$$3855388$$
(2)
(2) 0064102 104004 ERROR (A ;/MODULE FAULT DETECTED:
(1) /ERROR IN SETTING IBD BIT 2.
..SSSSSSSSSS“‘ ERROR ~~~ssssssssss
(3) 00464104 000412 BR ST20
(1) 004106 005037 (01124 1$: CLR SGDDAT /EXPECT ZERDO IBD WHEN
(1) 004112 042777 000004 175230 BIC #81T72,a18D /BlT 2 IS CLEARED.
(1) 004120 117737 175224 001126 MOVB al8D $BDDAT ;/READ 18D, IS IT CLEAR?
8; 004126 001407 BEQ 15120 ¥
::9888888888>>> ERROR <<<$3$58383%$
(2)
(2) 004130 104004 ERROR 4 :/MODULE FAULT DETECTED:
(1) ;FAILED TO CLEAR IBD,
) ::8888888388~* ERROR ~**$3835388SS
6241
(S) ;;t*ttttttttttttttttttttttttitttttttttﬁtttttt*ﬁtttttttttttttttttt
(4) :+TEST 20 «TEST THAT [BD BIT 3 CAN BET SET + CLEARED
(l.) ::ttttttttttttttttttttttttttttit'ttttttt!tttttﬁtttt!tttttttttt'tt
f;; 0046132 000004 TST20: SCOPE
(1)
(1) ;/MACRO BDT
(1) 004134 012777 000060 175204 Mov #BIT4L'BITS,aIBS /SET TON AND LON.
(1) 004142 012737 000010 001124 MOV #8173,8GDDAT S/WE'RE GONNA TEST BIT 3.
2}; 004150 013777 001124 175172 MOV $GDDAT,al1BD /SET THE BIT.
(1) 004156 117737 175166 001126 MOvVB alBD,$8BDDAT ;/READ THE 18BD.
(1) 004164 123737 0011246 001126 CMPB $GDDAT,$BDDAT :/DID IT GET THRU 0K?
f}; 004172 001402 BEQ 1% :/YES = CONTINUE.
(2)
::9858883888>>> ERROR <<<$33959833%%
(2)
(2) 0041746 104004 ERROR 4 ;/MODULE FAULT DETECTED:
(1 /ERROR IN SETTING IBD BIT 3.

;888888888844 ERROR “**$333535338$
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CNIBAA.P11 10-DEC-82 15:35 «TEST THAT IBD BIT 3 CAN BET SET ¢+ CLEARED SEQ 0023
(3) 004176 000412 BR TST21 22
(1) 004200 005037 001124 1%: CLR $SGDDAT J/EXPECT ZERO 18D WHEN
(1) 004204 042777 000010 175136 8IC #8173,31BD /81T 3 IS CLEARED.
(1) 004212 117737 175132 001126 MOVB o18D,$BDDAT J/READ 18D, IS IT CLEAR?
83 00220 001401 BEQ Tsrei ¥
2:9888838888>>> ERROR <<<$$8588888$
(2)
(2) 004222 104004 ERROR & :/MODULE FAULT DETECTED:
(1) JFAILED TO CLEAR IBD.
. ::93892888884% ERROR ~~*$3$3353588S$S
6242
(S) ::ttttttttt*tttttttttttttitti*ttitttt'tttttttttttttt'tttttttttttt
(4 :+TEST 21 *TEST THAT IBD BIT & CAN BET SET + CLEARED
(l.) ;;ttttttttttttttttﬁttttttttttttttttttttttt*tﬁtttttttttttttttttttt
f%i 004224 000004 1ST21: SCOPE
(1)
(1) ;/MACRO BDT
(1) 004226 012777 000060 175112 MoV #BIT4'BITS5,3IBS ;/SET TON AND 1 ON.
(1) 004234 012737 000020 001124 MOV #8174,5GDDAT :/WE'RE GONNA TEST BIT 4.
g}g 004242 013777 001124 175100 MOV $GODAT,aIBD :/SET THE BIT.
(1) 004250 117737 175074 Q01126 MOVB o180 ,8$BODAT ;/READ THE IBD.
(1) 004256 123737 001124 001126 CMPB $GDDAT ,$BDDAT ;/DID IT GET THRU 0OK?
g}; 004264 001402 BEQ 1% J/YES = CONTINUE.
(2)
::9888888888>>> ERROR <<<$$383838%$
(2)
(2) 004266 104004 ERROR & :s/MODULE FAULT DETECTED:
(1 :/ERROR [N SETTING IBD BIT 4.
::8338888888°%* ERROR ~~~5583338%sS
(3) 004270 000412 BR TST22 .o
(1) 004272 005037 001124 1$: CLR SGDDAT s/EXPECT ZERO IBD WHEN
(1) 004276 042777 000020 175044 BIC #BIT4,aIBD ;/BIT & IS CLEARED.
(1) 004304 117737 175040 001126 MOVB alBD,$BDDAT ;/READ IBD, IS IV CLEAR?
8; 004312 001401 BEQ 15122 . ¥
3
::9588853888>>> ERROR. <XX$$53$358%8$
(2) “t
(2) 004314 104004 ERROR 4 ;s/MODULF FAULT DETECTED:
(1) SFAILED TO CLEAR I8D.

;:5898888888544* ERROR ~*~3$3555358$
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CNIBAA.P1 10-DEC~82 15:35 122 *TEST THAT 18D BIT 5 CAN BET SET + CLEARED SEQ 0024
(5) JINNA RN AR AR AN AR AR TN AN O AN A AR ARNEN AN AAANRNAANAANAIOCANRANAY
(4) ;*TEST 22 *TEST THAT 1BD BIT 5 CAN BET SET + CLEARED
(&) JINENE R AR AR AN RN AR R N RN RN AN ANANAC RN AN AN AR AINARANONES
{%; 004316 000004 TST22: SCOPE
(1)
(1) ¢ /MACRO BDT
(1) 004320 012777 000060 175020 MOV #BIT4!BIT5,31BS ;/SET TON AND LON.
(1) 004326 012737 000040 001124 MOV #B1T75,$GDDAT :/WE'RE GONNA TEST BIT 5.
g}; 004334 013777 001124 175006 MoV $GDDAT,a1BD :/SET THE BIT.
(1) 004342 117737 175002 001126 MovB a18D,$BDDAT :/READ THE 18D.
(1) 004350 123737 001124 001126 CMPB S$GDDAT ,$BODAT  ;/DID IT GET THRU OK?
g}; 004356 001402 BEQ 1$ s/YES = CONTINUE.
(2)
| ::9888888888>>> ERROR <<<$$$$38558$$
(2)
(2) 004360 104004 ERROR & :/MODULE FAULT DETECTED:
QP :/ERROR IN SETTING IBD BIT 5.
;: 38858888884 ERROR *~*$$3$855588
(3) 004362 000412 BR 15723 s
(1) 004364 005037 001124 1$: CLR $GDDAT s/EXPECT ZERO I1BD WHEN
(1) 0064370 042777 000040 174752 BIC #8175,31BD :/BIT 5 IS CLEARED.
(1) 004376 117737 174746 001126 Movse alB8D, $BDDAT ;/READ IBD, IS IT CLEAR?
(3) 004404 001401 BEQ TsT23 ¥
;:3885888888>>> ERROR <<<$$5585$38$
(2)
(2) 004406 104004 ERROR & s/MODULE FAULT DETECTED:
1) cFAILED TO CLEAR I8D.
(1) ;: 9588985885~ ERROR ~**$$$5335538
6244
(5) SRR AR R A AN RN RN R AR NN AR RN AR AR AR RN RN
(4) ;*TEST 23 *TEST THAT [BD BIT 6 CAN BET SET + CLEARED
(4) JIRRAR R AR AN AR AR AR AR R R RN AR R R AR R AR AR RRRR R RN RRARANANNRNRRANS
g%; 004410 000004 TST23: SCOPE
(1)
(1) s /MACRO BDT
(1) 004412 012777 000060 174726 MoV #BIT4!BIT5,318S ;/SET TON AND LON.
(1) 004420 012737 000100 001124 MOV #81T6,8GDDAT :/WE'RE GONNA TEST BIT 6.
f}; 004426 013777 001126 174714 MOV $GDDAT,a18D :/SET THE BIT.
(1) 004434 117737 174710 001126 MovB 318D, 8BDDAT s/READ THE [BD.,
(1) 004442 123737 001124 001126 CMPB $GDDAT,$BODAT  ;/DID IT GET THRU OK?
g}; 004450 001402 BEQ 1% s/YES = CONTINUE.
(2)
- — — —_—
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MAINDEC~11-CNIBA=-A MACY11 30(1046) 15
CNIBAA.P11 10-DEC~82 15:35 123 «TEST THAT IBD BIT 6 CAN BET SET + CLEARED SEQ 0025

::9888888888>>> ERROR <<<$$38$%53583

(2)

(2) 004452 104004 ERROR & :/MODULE FAULT DETECTED:

N :/ERROR IN SETTING IBD BIT 6.
;3838588888444 ERROR *~~$3$$35535$$

(3) 004454 000412 8R TST24 ¥

(1) 004456 005037 001124 18: CLR $SGDDAT :/EXPECT ZERO IBD WHEN

(1) 006462 042777 000100 176660 BIC #8176,318D :/B1T 6 IS CLEARED.

(1) 004470 117737 174654 001126 MOVB  aIBD,$BDDAT +/READ 1BD, IS IT CLEAR?

gg; 004476 001401 BEQ TST24 ¥
::8388888888>>> ERROR <<<$$3$$$33$$

(2)

(2) 004500 104004 ERROR & ;/MODULE FAULT DETECTED:

(1 sFAILED TO CLEAR IBD.
;8888888885 ERROR ~~*$$$3$58$$$

6343

(S) ;.'ttﬁitt*ttt**tttt**ttittttttttt*tt*ttittttt*tttttttttt*ttttttttt

(%) S*TEST 24 «TEST THAT IBD BIT 7 CAN BET SET + CLEARED

(l.) : .'ttttttt**t**tttt*ttt*iiiitii*ﬁttttt*tttttttttttﬁtttttttt*ttt'tt

g;; 004502 000004 7ST24: SCOPE

O

(1) : /MACRO BDT

(1) 004504 012777 000060 174634 MOV #BIT4'BITS,aIBS :/SET TON AND LON.

(1) 004512 012737 000200 001124 MOV #BIT7.$GDDAT  :/WE'RE GONNA TEST BIT 7.

g}; 004520 013777 001124 174622 MOV $GDDAT,31BD S/SET THE BIT.

(1) 004526 117737 174616 001126 MOVB  @IBD,$BDDAT :/READ THE IBD.

(1) 004534 123737 001124 001126 CMPB  $GDDAT,$BDDAT  :/DID IT GET THRU OK?

g}; 004542 001402 BEQ 1$ :/YES = CONTINUE.

(2)
::8988888888>>> ERROR <<<$835$533%$

(2)

(2) 004544 104004 ERROR 4 ;/MODULE FAULT DETECTED:

1 :/ERROR IN SETTING IBD BIT 7.
:: 583588888544 ERROR “~*$$$$$38$$$

(3) 004546 000412 BR 1ST25S 0

(1) 004550 005037 001124 1$: CLR $GDDAT :7EXPECT ZERO IBD WHEN

(1) 004554 062777 000200 174566 BIC #81T7,318BD 2/BIT 7 IS CLEARED.

(1) 004562 117737 174562 001126 MOVB  aIBD,$BDDAT :/READ IBD, IS IT CLEAR?

fg; 004570 001401 BEQ 15125 ¥

;:5955888888>>> ERROR <<<$$3$3333838$
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T24

*TEST THAT IBD BIT 7 CAN BET SET + CLEARED

ERROR 4 s/MODULE FAULT DETECTED:
<FAILED TO CLEAR 1BD.

s ARS558858584%4 ERROR ~~~$535535888S

A 223232223 2232822202023 23d0202R24000232822022232224232223238232222222320222223§3§2|]

S*TEST 25 *TEST THAT NO DATA GETS XFERRED, IF NOT ENABLED

;:tttttt*ttt*\tttttttt**tti*tti*tt*tttﬁ**ﬁ*ﬁt*tﬁ**'tttti*tttttttt

TST2S:

SCOPE .

CLR 2]8S ;CLEAR CSR

MovB #252,a18D s TRY XFERRING DATA
CLR $CDDAT ¢NO DATA SHOULD XFERR
Move @18D,$BDDAT ;READ BUFFER REG.

8EQ TST26 oo

;:3883888888>>> ERROR <<<$$55$5358$

ERROR 2 :/MODULE FAULT DETECTED:
:DATA WAS XFERRED THROUGH IBD
sEVEN THOUGH TON AND LON CLEARED.
:SIGNAL 'ENB XFER L'' PROBABLY
:STUCK LOW.

::39588885888°4* ERROR ~**$$535338SS

A AL ARl 2SRl iRl RRRRRRd R iRt dRlddRdd Rt aRiRR ARl d R )]

SeTEST 26 «TEST IBD BITS DAC. AND DAV
::'.*'.""'ﬁ."ﬁ""if"Q"Q‘QQ'Q‘Q"Q*.Q*Q.'.*.Q'Q"'Q".'ﬁ"'t
1$T26: SCOPE

CLR ales :CLEAR CSR.

CLR 318D *CLEAR DATA REG.

BIT #8178.318D IS DAC SET?

BNE 43 'YES (GOOD)

4% :

;:8888888888>>> ERROR <<<38853888%9

ERROR 2 s/MODULE FALT DETECTED:
;DAC wWOY SET.

A 3T 3333 33 Ty PRV Tt $ 3333 1Y Y3

B8R TS127 32

8]s #BITS5!'BITL!6IT7, 3188 ;SET TON AND LON
MOV #252,31B0 ;PUT DATA IN ]BD.
MoV #!8D.$80DAT <READ [8D.

SEQ 0026



- .

MAINDEC-11-CNIBA-A

CNIBAA.PT

' 6275 006676
6576 004704
6577

004706

6280 004710

6282 004712
6283 004720
6284 004724
6285 004732

(1)
(1) 004734
287

6289 004736
6290 004740
6291 004746

(1)
(1) 004750
293

004752

004754
004760
004766
004774
004776

005004
005012

e el e lelelalela e et ale)
b b e b b b b ub b = L N £ O

e e e e e Y e e Y e Nl N e Nt

e e ———————

10-DEC~-82

032737
001002

104002

000420

012777
105777
032777
001402

104002

000004

005077
052777
032777
001011
052777

032777
001002

MACY11 30(1046) 52 -DEC-82 16:09 PAGE 57 SS

15:35
001000

000060
174624
000400

001000

174366
000004
010000

000004

010000

001126

174426
174416

174402

174360
174354

174342

174336

N —2
L oL

38:

2 4232222802228 2R R R 2R RdRR 20000 RRRR RR D]

«TEST THAT REN SETS WHEN REM SETS, ALSO TEST CLEAR

A Ai23 8323 2R0 2002002 RRRRRRR 202l s RRdRRRdRRRiRRRRR] )]

15127:

TeTEST 27

+«TEST I8D BITS DAC, AND DAV

BIT #B1T9,$BODAT :DID DAV SET?
BNE 1% sYES = CONTINUE.

;:88855588888>>> ERROR <<<$$8$3$$$8$

ERROR 2 :/MODULE FAULT DETECTED:
;DAV FAILED TO SET.

6.3553333533;“ ERROR “‘SSS‘SSS&‘S

MOV #BIT4!BITS,R1IBS :CLEAR ACC.

TST8 alB80 sREAD LOW BYTE OF [BD.
BIT #B178,31BD :DID DAC CLEAR?

BEQ 3$ sYES -~ CONTINUE.

::3888888888>>> ERROR <<<$$$853538$$

ERROR 2 ;/MODULE FAULT DETECTED:
:DAC FAILED TO CLEAR.

éﬁsssssssssg~~* ERROR ~**$3338$$33$

BIT #B1T9,a18D :DID DAV CLEAR?

BEQ TS127 ::
::8888888888>>> ERROR <<<$3333333%$

ERROR 2 :/MODULE FAULT DETECTED:
:DAV FAILED TO CLEAR.
5:388888888844% ERROR “**$535858388

s /MACRO -SIGC-

SCOPE

CLR alBs :/CLEAR CSR.

BIS #8172,318S */SET REM, SHOULD SET REN.
BIT #B1T12,31BD </DID RENSET?

BNE 1$ 1/YES ~ LETS TRY CLEARING IT.
BIS #B112,a18S 2/SET REM, MEMORY

+/REFRESH COULD HAVE
:/INTERRUPTED US.

BIT 12!T12.GIBD :/DID REN SET THIS TIME?

SEQ 0027

(
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005014

005016
005020
005026
005034

005036

005040

005042
005046
005054
005062
005064

005072
005100

005102

005104

005106
005114

005116

10-DEC-82 1

104002

000410
042777
032777
001401

104002

104002

000411

032777
001374

032777

MACY]
15:35

000004
010000

174300
000010
020000
000010

020000

000010

020000

1 30¢(1046)

174320
74314

124272
174266
1762564

174250

174232

174224

C
55-05(-82 16:09 PAGE 57-26

1%:

*TEST THAT REN SETS WHEN REM SETS, ALSO TEST CLEAR

::9888888888>>> ERROR <<<$8$588%8%$

ERROR 2 : /MODULE FAULT DETECTED:

‘/REN FILED TO SET WHEN REM SET.
éﬁssssss¥gs§8~~ ERROR ***$$$3$3838$
BIC #B172,318S S7CLEAR REM, SHOULD CLEAR REN.
BIT #B1112,318D */DID REN CLEAR?
BEQ 15730 i

;:9888888888>>> ERROR <<<$$$5853%8$

ERROR 2 s/MODULE FAULT DETECTED:
s/REN FAILED TO CLEAR.

;:9988888888°~* ERROR ~**$5353585$S

:/MACRO -SIGC-

A3 42 2222220 diddRRddRRRRRRl R R 00 R2d00 000020002 RRd);

'tTEST 30 *TEST THAT [FC SETS WHEN IBS SETS, ALSO TEST (LEAR

t*ﬁt'.ttﬁ*tﬁtttiﬁQ*ttt'*'i*t.ttt.‘tl‘iﬁ**ttt*t.**tﬁtttt'i!t.tit'

TST30

1%:

SCOPE

CLR 31BS :/CLEAR CSR.

BIS #8173,318S 1/SET IBS, SHOULD SET IFC.
BIT #8171%,3180 S/DID IFC SET?

BNE 1$ S/YES - LETS TRY CLEARING IT.

BIS #BI173,318BS :/SET IBS, MEMORY
:/REFRESH COULD HAVE

s/ INTERRUPTED US.

BIT 1%1T13.8180 :/DID IFC SET THIS TIME?

BNE
::9888888388>>> ERROR <<<$$38888%%$
ERROR 2 J/MODULE FAULT DETECTED:

s/IFC FILED TO SET WHEN IBS SET.
;:99888$8888** ERROR ~**$35555353$
BR TST31

BIT 1%173.3185 :/WAIT FOR [BS TO CLEAR.

BNE
8IT #BIT13,a18D +/1BS CLEAR, DID IFC CLEAR?

SEQ 0028




rr—

MAINDEC=11-CNIBA~A

(3)
2)

P Y L )
-2 NI
- o’

(1)

o~
~INWN
- P
V—.o

M) e d e e cmd b cd ad w=d b N LS SN
N’ W Nl W NP N N P ) N N Nl P b

o~~~ P, S P P S PN PN PN PN PN PN N P N PN
Y, N1,
P N

P,
NN = =N
N "t N Nt

—~ o~
- N

oo
o~ o~ NN~
Ve 80N
~r e LN\ o
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005124

005126

005130

005132
005136
005144
005152
005154

005162
005170

005172

005174
005176
005204
005212

005214

001401

104002

000004

005077
052777
032777
001011
052777

032777
001002

104002

000410
062777
032777
001401

104002
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174210
000001
040000

000001

040000

000001
040000

17
17

17

174160

4202
6176

£164

D_3
15-DEC=-82_ 16:09 PAGE 57-27
T30 *TEST THAT ]FC SETS WHEN 18S SETS, ALSO TEST CLEAR

BEQ TST31 3
::9988888888>>> ERROR <<<$$3838888%
ERROR 2 s/MODULE FAULT DETECTED:

s/1FC FAILED TO CLEAR.
;:9988589888%4* ERROR ~**$58$358883

+/MACRO -SI1GC-

A AAAAAAAAAAd AL ARAARARARAAARAARAAAR AL ARARARRARAAAARAALRAR D)

;+TEST 31 «TEST THAT ATN SETS WHEN T(CS SETS, ALSO TEST CLEAR

WA AR AR RRdRlRRdRRdi2d2 R a0l 2222022002202 R]d] ]

1ST31: SCOPE

CLR al8$ :/CLEAR CSR.

BIS #8170,3IBS +/SET TCS, SHOULD SET ATN.
8IT #81T14,318D 2/DID ATN SET?
8NE 1$ S/YES = LETS TRY CLEARING IT.
BIS #8170,318S :/SET TCS, MEMORY
*/REFRESH COULD HAVE
+7INTERRUPTED US.
BIT #81T14,318D 2/DID ATN SET THIS TIME?
BNE 1$
::9988888888>>> ERROR <<<$33$888888$
ERROR 2 ;/MODULE FAULT DETECTED:
*/ATN FILED TO SET WHEN TCS SET.
;88888858884 ERROR ~~*$3$$$5338S$
BR TST32 5
1$: BIC #8170,318S :7CLEAR TCS, SHOULD CLEAR ATN.
BIT #81714,3180 :/DID ATN CLEAR?
BEQ TST32 ’e

::99598388888>>> ERROR <<<$33388388%

ERROR 2 :/MODULE FAULT DETECTED:
«/ATN FAILED TO CLEAR.

;:8883888888°4~ ERROR ***$55353338$

:/MACRO -S1GC-

::.t..ttttt.tttttittttttQtttttitttttlttttlittt'li'Qt..ti...'...l.

SEQ 0029
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(1)
6344
6345

(3)

(3)

(2)

(2)
6346
6347
6348
6349
6350

[V P Ty
S} b b
b e

005216

005220
005224
005232
005240
005242

005250
005256

005260

005262
005264
005272
005300

005302

005304

005306
005312
005320

005322

10-DEC-82 15

000004

005077
052777
032777
001011
052777

032777
001002

104002

000410
042777
032777
001401

104002

000004

005077
032777
001002

104002

176122
000002
100000

000002

100000

000002
100000

174034
002000

MACY11 30(1046)
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174114
174110
174076

174072

174054
174050

174030

15-DEC~
132

E 3
B2 16:09 PAGE 57-28
*TEST THAT EOI SETS WHEN EOP SETS, ALSO TEST CLEAR

*TEST THAT EOI SETS WHEN EOP SETS, ALSO TEST CLEAR

A A AAAL2AARR AR RRRRdRRlARlaRAlRRdR2ddd2 0220202000022 200 2] )

s /CLEAR CSR.

s/SET EOP, SHOULD SET EOI.
+/DID EOI SET?

s/YES = LETS TRY CLEARING [T,
s/SET EOP, MEMORY

¢/REFRESH COULD HAVE
+/INTERRUPTED US.

:/DID EOI SET THIS TIME?

::9988888888>>> ERROR <<<$3$8$3383$

+/MODULE FAULT OETECTED:
:/E01 FILED TO SET WHEN EOP SET.

: ;39558888884 ERROR ~~~$5533553SS

*7CLEAR EOP, SHOULD CLEAR EOI.
S/DID EOI CLEAR?

::9888888888>>> ERROR <<<$833$83583$

:/MODULE FAULT DETECTED:
s/E0! FAILED TO CLEAR.

;. 95585588888~ * ERROR ~**$$555335353%$

A AR RS AR AR AR iRl il d it sttt ilisiidd)

s*TEST 32

7§132: SCOPE
CLR aIBS
BIS #BIT1,318S
BIT #81T15,318D
BNE 18
BIS #BIT1,318$
BIT #BIT15,318D
BNE 1%
ERROR 2
BR 1ST33

18: 3¢ #BIT1,3185
BIT #81715,318D
BEQ TST33
ERROR 2

S«TEST 33

*TEST THAT RFD SET WHEN CSR CLEAR,CLEAR WHEN ACC SET

A AR 24022020 d00dRdRARAR 2R3 32 2 0000022220222 3002222028

18133:

SCOPE

(LR a18$s
8IT #81710,a18BD
BNE 1%

sCLEAR CSR.
:DID RFD SET?
:YES CONTINUE.

::9888888888>>> ERROR <<<$38$3588%$

ERROR 2

s /MODULE FAULT DETECTED:
cRFD FAILED TO SET.

;:99858888884%4 ERROR ~+~$33333388$

SEQ 0030
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6353
6354
6355
6356
6357
6358

005324
005326

005334
005342

005344

005346
005350
005354
005362

005366
005374

005376

005400
005402
005410
005416

005420
005424

005426

MACY11 30(1046)
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000410
052777

032777
001401

104002

000004
005077
052777
105077

032777
001001

104001

000004
012737
012777
000005

105777
001401

104001

000200
002000

173772
000041

173762
040000

000005
000367
173722

15~
133

174012 1$:
174C06

£ 3
DEC~82 16:09 PAGE 57-29

*TEST THAT RFD SET WHEN CSR CLEAR,CLEAR WHEN ACC SET

BR TST34 HH

BIS #8117,318$ :NOW SET ACC,RFD SHOULD CLEAR.
BIT #81710,318D ‘DID IT CLEAR?

BEQ TST34 -

;:9938885888>>> ERROR <<<$3$5$5838$

ERROR 2 s /MODULE FAULTY DETECTED:
sRFD FAILED TO CLEAR.

;299888888884 ERROR ~**$$35388339

A A2 RARR2AARRdA2A0RRRRRdRdR 2222t 222222222 2222222222222

SwTEST 34 *TEST THAT WE CAN GENERATE AN ER2
::itittﬁt'.'t.tﬁttt'"tti""ttt"tittt!'iﬁttttittitttttttitt'Iit
T$T34: SCOPE
CLR alBs :CLEAR THE STATUS REG.
173764 BIS #BITS'BITO,31IBS :SET TON: THIS SHOULD CAUSE AN
:ERROR SENCE NO LISTENERS ARE ON
CLR8  a@I8D :aag WE SENT DATA TO THE BUS.
173752 BIT #81714,318S :DID ER2 SET?
BNE TST3S 33

;. 9988888888>>> ERROR <<<$335395%5$

ERROR 1 :/MODULE FAULT DETECTED:
;ER2 FAILED TO SET.

;. 53585898884 % ERROR ~“*$53535353$

A A AAAAALAA ARl ARARARRARARAARARRRRRR R R RR R iRt iddtllild ]

;*TEST 35 *TEST THAT BUS INIT CLEARS ACC,TON,LON,REM,EIP,TCS

A A 22220 da AR ARt 2020222202030 0202823) ]3]

15135:
001160
173730

SCOPE

MOV #S,8TIMES ::00 S ITERATIONS

MOV #367.318BS sSET ACC,TON,LON,REM,EOP, AND TC(S.
RESET JISSUE SYS INIT.

TST8 alBS ;DID THEY ALL CLEAR?

BEQ 1ST136 A

2:98858888888>>> ERROR <<<$$$38333%$

ERROR 1 :/MODULE FAULT DETECTED:

SEQ 0031
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6383
6384

005430
005432

005440
005446
005454
005462
005464
005472

005474

005476
005500

005506
005514
005522
0055264
005530

005532
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000004
012737

012777
052777
032777
001374
032777
001401

104001

000004
012737

012777
012777
000005
105777
001401

104002
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000005
000266
000010
000010

000266

000005

000260
000377

173620

3
15-DEC-82 16:09 PAGE 57-20
T35 *TEST THAT BUS INIT CLEARS ACC,TON,LON,REM,EIP,TCS

:BUS INIT FAILED TO CLEAR CSR.

;2998885888884 ERROR “~*$3353583$S

CIRAPRARNRANAANRNPARN A RN AA RN AEAAANRNRAAARARAEAAANENAAAARARAOANOEN

S*TEST 36 *TEST IBC CLEARS ACC,TON,LON.REM AND EOP

A AL AERRARARRRRRRRRR2RRd R 2 2R 2020002220002 02020 d )]

t$T36: SCOPE

001160 MOV #5,8TIMES ::D0 5 ITERATIONS
173700 MOV #266,3188 ;SET ACC.TONLON,REM, AND EOP.
173672 BIS #B173,318S *SET IBC. THIS SHOULD CLEAR ABOVE BITS.
173664 18: gﬁ{ 1gxrs.alas ‘WAIT TILL IBS CLEARS
173654 81T #266,318$ ‘DID THEY CLEAR?
BEQ TST37 i

::9888888888>>> ERROR <<<$$$838883$

ERROR 1 :/MODULE FAULT DETECTED:
sACC,TON,LON,REM, AND/OR EOP
sFAILED TO CLEAR ON IBC

;: 99858888884 ERROR ~~~$53333838S

A AR A4 d Rl R AR RdRddRlid il dldidl 220202002 )

SwTEST 37 «TEST THAT BUS INIT INDIRECTLY CLEARS IBD

A AR 2R RR0ddddlaRlRllddR 222222202 2222223002220 )

7$T37: SCOPE

001160 MOV #5,8TIMES 2:D0 5 ITERATIONS
173632 MOV #BIT7!B115!B174,318S ;SET ACC,TON, AND LON.
173626 MOV #377,318B0 sLOAD IBD

RESET s ISSUE SYS INIT.

TST8 alBD ;DID IT CLEAR?

8EQ TST40 ‘e

::9893888888>>> ERROR <<<$3$535338$S

ERROR 2 +/MODULE FAULT DETECTED:
sFAILED YO CLEAR LOW BYTE OF 1BD ON
sSYSTEM INIT.

:; 998858888884~ ERROR ~*~$53889388$
.SBTTL

.SBTTL INTERRUPT TESTS
.SBTTL

SEQ 0032
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005534

005536
005542
005550
005556

005564
005570
005574
005576
005576
005600

005602

005604
005606
005606
005612

005616
005624

005632

005634
005642
005650
005656

005664
005670
005674
005676
005676
005700

005702

10-DEC-82

000004

005077
012777
012777
052777

012746
012746
000002

000240
000240

104001

000402

062706
005077

013777
012777

000004

012777
012777
012777
052777

012746
012746
000002

000240
000240

104001

MACY11 30(1046)
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173604
0C 200
0C >06
00u101

000000
005576

000004
173530

001406
004700

000200
005726
000060
000100

000000
005676

H 3
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140 «TEST THAT (MD CAN GENERATE AN INTERRUPT B

s pANTANNANARARNNNCESCACRRSSERECCSORENOAROAGRNRNECAANOACOROCORORNERNORORNTY

SeTEST 40 *TEST THAT CMD CAN GENERATE AN INTERRUPT B

':'Qﬁtii'itt.ﬁtttt't"t'tQ"t't.tt"tittt.t'tltt"t..""'."".'

7§T40: SCOPE

CLR a1B$ ;CLEAR THE CSR.
MOV #200,8PR(
MOV #18,avECTC ;SET UP INTERRUPT VECTOR

8IS #BIT0!BIT6,aIBS ;SET TCS, SHOULD CAUSE

:/PR
MOV #0,-(SP) :/SET CPU PRIORITY ON RETURN
MOV #64%,-(SP)

:/SHOW RETURN ADDRESS

RTI ¢/CAUSE A RETURN (PUTS NEW STATUS
648 ;/IN STATUS REG.)

NOP cCMD TO SET AND GIVE US AN

NOP ; INTERRUPT .

;:3988888888>>> ERROR <<<$$$$3$33$$

ERROR 1 s/MODULE FAULT DETECTED:
sCMD FAJLED TO GENERATE AN INTERRUPT.

;. 338388888844 ERROR “**$53535538%S
BR 2$

1%:

ADD #4,5P :/ADD #4 TO STACK POINTER.
28: CLR alBs :gLEegvluteanupr

MOV PRC ,aVECTC ;/RESTORE VECTOR FOR

MOV #4700, 3PRC :/ILLEGAL INTRO.
::tttt'tQtt*t.tttitt'ttti'ttti'tttttttttt'ttttttttttttttttﬁtttt!t
SeTEST 41 «TEST THAT TKR AND LNR CAN GENERATE INTERRUPTS

AN AR AR REANAANNARRN RO RN LR R AR AR AR RARNAARE AN AR AANCAROARGEORRER

7$T41: SCOPE
MOV #200,3PRC

MOV #1$,3VECTC :SET UP INTERRUPT VECTOR FOR TKR INTERRUPT
MOV #81T4!BITS5,31BS :SET TON AND LON
BIS #8176.31BS :75§°" INTERRUPT
MOV #0,-(SP) S/SET CPU PRIORITY ON RETURN
MOV 0648 ,~(SP) */SHOW RETURN ADDRESS
RTI :/CAUSE A RETURN (PUTS NEW STATUS
648 :7IN STATUS REG.)
NOP
NOP

;:5338388888>>> ERROR <<<$$$5883%8$

ERROR 1 ;/MODULE FAULY DETECTED:

SEQ 0033
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6442

6444 005704

6445

(1) 005710
(1) 005716
6446 005724

6447

6448 005726
(1) 005726

6449

(1) 005732
(1) 005740
6450 005746
6451 005754

(1) 005762
(1) 005766
(1) 005772
(1) 005774
6453 005774

6455 006000
6456 006002

6460 006C06

6462 006010
(1) 006010
6463 006014

(1) 006020
(1) 006026

6468 006036
6469 006042
6470 006050

7
1) 006056
1)
1

(1)
(1) 006004
458

006034

006062
006066
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005077
013777
012777
000443
062706
013777
012777
012777
012777
012746
012746
000002
105277

000240
000240

104001

000402
062706
005077

013777
012777

000004

077
777
746

746
002

o000 OO0
Ot wded O

o ronowv
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1
15:35

173436

001406
004700

000004

001406
004700
000200
006010

000000
005774

173350

000004
173326

001410
004700

173304
000200
006126

000200
006079

1734644
173462

1
T4

1$:

65$%:

2$:
3%:

3
?-DEC-BZ 16:09 PAGE 57-52

«TEST THAT TKR AND LNR CAN GENERATE INTERRUPTS

[$2$33131
CLR

MOV
MOV
BR

ADD

MoV
MOV
MOV
MOV

MOV
MoV
RTI
INCB

NOP
NOP

sFAILED TO GENERATE A TKR INTERRUPT.

$888-“* ERROR “~“$3553333$$

a18s

sCLR_CSR
s /=RESV-

PRC,aVECTC ;/RESTORE VECTOR FOR

#4780, 3PRC
TST42

#4,5P

s/ILLEGAL INTRO.

;/ADD #4 TO STACK POINTER.
s /=RESV=-

PRC,@VECTC ;/RESTORE VECTOR FOR

#4700, 3PRC
#200,3PRD
#23,3VECTD

20,-(SP)
#658,-(SP)

alBD

s/ILLEGAL INTRO.

:;g; UP FOR LNR INTERRUPT,

s/SET CPU PRIORITY ON RETURN
s/SHOW RETURN ADDRESS

:/CAUSE A RETURN (PUTS NEW STATUS
:/IN STATUS REG.)

sSEND DATA = (LRS TKR SETS LNR
sFOR INTERRUPT

$:93883858888>>> ERROR <<<$$5$$$3383$9%

ERROR

1

;/MODULE FAULT DETECTED:
sFAILED TO GENERATE LNR INTERRUPT

::3888588888“* ERROR ~~"$$5$5553S$
BR 3%

ADD
CLR

MOV
Mov

#6,SP
aIBs

:/ADD #4 TO STACK POINTER.
sCLEAR THE STATUS REG.
:/=RESV~

PRD, @VECTC ;/RESTORE VECTOR FOR

#4700,3PRD

:/ILLEGAL INTRO.

SR 2222223232223 2323 2202224020202 288022302020 0000RRRddRRdRlRidd ]

SeTEST 42

TST42:

SCOPE

CLR
MoV
MOV

MoV
MOV
RTI

*TEST THAT ER2 CAN GENERATE AN INTERRUPT

:;tttt"ttttttﬁ'ttt't'ti'iitt'tttitﬁttl"tttt‘.i"t'!tti"'.tt'lt

alB8S
#200,3PRA
#1$,8VECTA

#200,=(SP)
#6648 ,-(5P)

:START WITH CSR CLEAR
:;g; UP INTERRUPT VECTOR
*/SET CPU PRIORITY ON RETURN

s/SHOW RETURN ADDRESS
s/CAUSE A RETURN (PUTS NEW STATUS

SEQ 0034
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CNIBAA P11

(1)
6472
6473

006070
006070
006076
006102
006104

006106
006112
006116
006120
006120

006122

006124
006126
006126
006132

006136
006144

006152

006154
006160
006162
006166

006166
006172
006176
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052777
105077
000240
000240

012746
012746
000002

000240

104001

000402

062706
005077

013777
012777

000004

005737
001002
000137

005077
005077
012777
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000140
173246

000000
006120

000004
173210

001402
004700

001254
006764

173154
173179
000200

3
16:09 PAGE S7-§3

«TEST THAT ER2 CAN GENERATE AN INTERRUPT

;/IN STATUS REG.)
;SET TON = NO LISTNERS ON
:BUS BUT DATA PUT ON

;8US = THEREFORE AN INTERRUPT

;:gULD BE POSTED.

:/SET CPU PRIORITY ON RETURN
;/SHOW RETURN ADDRESS

:/CAUSE A RETURN (PUTS NEW STATUS
:/IN STATUS REG.)

2/MODULE FAULT DETECTED:
sFAILED TO INTERRUPT ON ERROR2

;/ADD #4 TO STACK POINTER.

sCLEAR CSR

:/=RESV-

PRA,@VECTA ;/RESTORE VECTOR FOR

s/ILLEGAL INTRO.

X33 232332 33222232322 3223a222232232323 22 2R R 02002200822 RRRd0dd )]

«TEST THAT MODULE PASSES °'BIAKI"

X R T2233 22X S22 4222202200 2222 22 2 RRRddRiRi2tRtRld)

s*WARNING! THIS TEST IS DESIGNED TO BE EXERCISED WITH A
;*SECOUND MODULE (IBV-11) WITH SWITCH "ER1 _INW™ SET,

;*ADDRESS OF THE SECOUND MODL'E IS IN LOCATION *18S2'* VECTOR
THE SECOUND 1B8V=11 SHOULD BE ELECTRICALLY SEC

;#TO INHIBIT THE USE OF TESTING WITH A SECOUND MODULE, MAKE

;TESTING WITH
:SECOUND [8V11?
;NO-END PASS.

:CLEAR CSR.

648:
173250 BIS #BITS!'B1T6,a18S ;
CLRB 818D
NOP
NOP
MOV #0,=-(SP)
MOV #6588, (SP)
RTI
65%:
NOP
::99885888888>>> ERROR <<<$35$55888$$
ERROR 1
2:995858888844% ERROR ~~~$$835353%8S
B8R 2%
1%:
ADD #,SP
2$: CLR alBS
173212 MOV
173230 MOV 04700 aPRA
LSBTTL
.SBTTL SECOND MODULE TESTS
SBTTL
'~resr 43
TST43: SCOPE
'ADDRESS IS IN LOCATION °*‘VECTA2'.
'LOCATION ‘“$COWT’" ZERO.
TST $COW1
BNE 3s
JMP EOP
3%:
CLR alB8s
CLR 2l8S2
173212 MOV #200,8PR(2

sCLEAR SECOUND MODULE.

SEQ@ 0035




MAINDEC=11-CNIBA-A

CNIBAA,

6513
6514

VAN = s o ™~
b e cd wed b e b b
00 ~NON N o v

ooonor

o

(¥ P W Wy Yl il
AN = b cd b i NI N
O W o D

P
006204

006212
006216
006222
006224
006224
006232
006234

006236

006240
006242
006242
006246

006252
006260

006266

006270
006274

006300
006306

006314
006320
006324
006326
006326
006334

006342

10-DEC-82
012777
012746
012746
000002
012777

000240
000240

104001

000402

062706
005077

013777
012777

000004

005077
005077

012777
012777

012746
012746
000002
012777
052777

000240

K 3
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MACY11 30(1046) 15
15:35 143 «TEST THAT MODULE PASSES 'BIAKI'’ SEQ 0036
006242 173164 MOV #1$,3VECTC2 ss; UP VECTOR ADDR.
000000 MOV #0,-(SP) </SET CPU PRIORITY ON RETURN
006224 MOV #64$,-(SP) +/SHOW RETURN ADDRESS
RTI +/CAUSE A asrunn (PUTS NEW STATUS
643 +/IN STATUS REG.)
000140 173134 MOV #81T6'BITS,aIBS2 :SET INTR ENABLE AND TON ON SECOUND
NOP ;18V = SHOULD CAUSE A TKR INTERRUPT.
NOP
::9988888888>>> ERROR <<<$38883588$
ERROR 1 ;/MODULE FAULT DETECTED:
*ASSUMING SECOUND MODULE IS GOOD,
:MODULE (IBV-11. UNDER TEST FAILED
:TO PASS Q BUSS 3:GNAL 'BTAKI'
: ;3888888888444 ERROR “**$$$8$3838$
s BR 2
000004 ) ADD #6,SP :/ADD #4 TO STACK POINTER.
173114 28: CLR alBs2 CLsggvSECOUND MODULE
001416 173116 MOV PRC2,3VECTC2 ;/RESTORE VECTOR FOR
006700 173130 MOV #4700,3PRC2 :/ILLEGAL INTRO.
t*ttttttittttttttttttttttttttttttttttttttttttttttt*ittttttitttt
'TEST 44 «TEST THAT SRQ CAN GENERATE AN INTERRUPT
tttttttttﬁtttttttttt*'ttttttttltt*ttﬁtttttttttttttttttttttt*ttt
4T44:  SCOPE
:*WARNING! THIS TEST IS DESIGNED TO BE EXERCISED WITH A
:«SECOUND MODULE (1BvV=11) WITH SWITCH "ERT INH" SET.
S*ADDRESS OF THE SECOUND MODULE IS IN LOCATION "'IBS2'* VECTOR
:«ADDRESS IS IN LOCATION 'VECTA2''. THE SECOUND IBV=11 SHOULD BE ELECTRICALLY SE<
+«TO INHIBIT THE USE OF TESTING WITH A SECOUND MODULE. MAKE
'LOCATION *$CDW1'* ZERO.
173052 CLR alB8s :CLEAR CSRS.
173066 CLR 21852
000200 173076 MOV #200,aPRB :SET UP INTERRUPT VECTOR.
006352 173044 MOV #1$,3VECTB /PR
000000 MOV #0,-(SP) </SET CPU PRIORITY ON RETURN
006326 MOV #643,~(SP) /SHOW RETURN ADDRESS
RTI s /CAUSE A RETURN (PUTS NEW STATUS
648: :/IN STATUS REG.)
000100 173012 MOV #100,318BS *ENABLE INTERRUPTS ,
100000 173024 BIS #81715,31BS2  :SETTING SRQ IN THE '‘COW'’ MODULE

;WILL PUT SRQ ON THE IB BUS
NP ;IS ER1 INH SW IS SET.
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006344 000240

006346 104001

006350 000402

006352 1$:

006352 062706 000004

006356 2s:

006356 013777 0014046 172774
006364 012777 004700 173
006372 005077 172750

006376 005077 172764

MACY11 30(1046) 15 -DEC-82_ 16:09 PAGE 57~ %5

*TEST THAT SRQ CAN GENERATE AN INTERRUPT SEQ 0037
NOP

::9888888888>>> ERROR <<<$33888888$

ERROR 1 :/MODULE FAULT DETECTED:
:SRQ FAILED TO GENERATE
;AN INTERRUPT

: ;998885858884 ERROR ~*~$$55535883$
BR 2$

ADD #6,$P ;/ADD #4 TO STACK POINTER.
: /-RESV-

MOV PRB,aVECTB ;/RESTORE VECTOR FOR

MOV #4700, 3PRB :/ILLEGAL INTRO.

CLR alBs ;CLEAR CSRS

CLR 21852

JRERRAAANRRAAANAA AR ORNRONANRORARRAACRARAGANECAARRAACRANARAENEY

*TEST 45 *TEST THAT ERROR1 IS GENERATED IF ATN IS ON THE IB BUS

006404 005077 172756
006410 005277 172752

006414 032777 020000 172724
006422 001001

006424 104001

SARRRAAARAAARARAAARARENEATEACAACARARAARAAREAAARACACARACARAANRACACNS

006402 000004 TST45

SCOPE

;*WARNING! THIS TEST IS DESIGNED TO BE EXERCISED WITH A

:*SECOUND MODULE (IBV=11) WITH SWITCH "ERT INH'* SET.

; *ADDRESS OF THE SECOUND MODULE 1S IN LOCATION ''18S2'* VECTOR

;*ADDRESS IS IN LOCATION ‘VECTA2. THE SECOUND IBV-11 SHOULD BE ELECTRICALLY SEC
:+70 INHIBIT THE USE OF TESTING WITH A SECOUND MODULE, MAKE

*LOCATION ‘'$CDW1"" ZERO.

(LR alBS2 :CLR CSR OF 2ND MODULE.

INC alBs2 sASSERT ATN ON IB BUS
sASSERTED ATN ON IBV UNDER TEST-
:THIS SHOULD CAUSE AN ERROR 1
SENCE THE 2ND BV HAS ATN SET.

BIT #BI113,318BS DID ERROR 1 SET?

BNE TST46 ::

2:99585988888>>> ERROR <<<$$5353535%$
ERROR 1 «/MODULE FAULT DETECTED:

sFAILED TO GENERATE ERROR 1
::9885958888%°“~ ERROR “~*$335335538S

MALAAALAAAAARI A2 R A R AR ARl iR R sdiRilallildatids)

tTEST 46 «TEST THAT ERROR 1 IS GENERATED IF IFC IS PUT ON IB BUS BY SECOUND MODUL
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CNIBAA.P11 10-DEC=82 15:35 146 *TEST THAT ERROR 1 IS GENERATED IF IFC IS PUT ON |6 BUS BY SECOUND MODULE SEQ 0038
(3) . (2222322332333 2332232232224 23223203222333232232332323323223322232323233733.;
:%; 006426 000004 TST46: SCOPE
(1) 006430 012737 000005 001160 MOV #5,8TIMES ::D0 S ITERATIONS
6571 s*WARNING! YHIS TEST IS DESIGNED TO BE EXERCISED WITH A
1) tSECOUND MODULE (IBV=11) WITH SWITCH ‘ER1 INH" SET,
1 tADDREss OF THE SECOUND MODULE 1S IN LOCATION “'I8S2'* VECTOR
1 'ADDRESS IS IN LOCATION ‘'VECTA2''. THE SECOUND IBV=-11 SHOULD BE ELECTRICALLY SEC
(1) *TO INHIBIT THE USE OF TESTING WITH A SECOUND MODULE, MAKE
z}; *LOCATION *'$COW1'* ZERO.
6572 006436 005077 172704 CLR al8s :CLEAR CSR
6573 006442 012777 000010 172716 MOV #8173,318BS2 :ASSERT IFC FROM TESTOR
6574 006450 032777 020000 172670 BIT #BIT13 alBS :DID ERROR 1 GET SET?
6575 :IF SO = NEXT TEST
6576 006456 001010 BNE TST4? ::
6577 006460 012777 000010 172700 MOV #8173,318S2 IF NOT WE'LL TRY AGAIN SENCE MEMORY
6578 006466 032777 020000 172652 BIT 081713 alBS REFRESH COULD HAVE GO IN THE WAY.
6579 006474 001001 BNE TST4L7 2
6580
::8858888888>>> ERROR <<<$$5885335%$
1)
(1) 006476 104001 ERROR 1 :/MODULE FAULT DETECTED:
6581 sERROR 1 FAILED TO SET WHEN
6582 :IFC WAS ON IB-BUS AND MODULE
6583 :UNDER TEST DIDN'T PUT IT THERE.
6585 ::598558888%8°°* ERROR ~~~$535383%3S
6586 tt*tttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt
(3) tTEST 47 *TEST THAT ERROR 1 IS GENERATED IF REN IS ON I8 BUS
(3) tttttttttttttttttttt*ttt*tttttttttttttttttttttttttttttt*ttttttt
| gg; 006500 000004 TSTA? SCOPE
‘ 6587
6588 ;*WARNING! THIS TEST IS DESIGNED TO BE EXERCISED WITH A

(1) ;*SECOUND MODULE (IBV-11) WITH SWITCH “ERT INH™ SET.

(1) ;*ADDRESS OF THE SECOUND MODULE 1S IN LOCATION °'IBS2"' VECTOR

(1) ;*ADDRESS IS IN LOCATION ‘VECTA2''. THE SECOUND IBV-11 SHOULD BE ELECTRICALLY SEC
(1) :+T0 INHIBIT THE USE OF TESTING WITH A SECOUND MODULE, MAKE

f}; *LOCATION '$CDW1'* ZERO.

6589

6590 006502 005077 172640 CLR a18S ;CLEAR CSRS.

6591 006506 005077 172654 CLR a18S2

6592 006512 052777 000004 172646 8IS #8112,318S2 ;ASSERT REN ON I8 BUS FROM 2ND
6593 ;MODULE. 1ST IBV=11 SHOULD
6594 806520 032777 020000 172620 BIT #BIT13,318S GENERATE AN ERROR 1:DID IT??
gggg 006526 001001 BNE TST50 ‘e

2:9888888888>>> ERROR <<<$$3885838%8$
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006530

006532

006534
006540

006544
006552

006560

006566
206572
006576
006600
006600
006606
006610

006612
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104001

000004

005077
005077

012777
012777

052777
012746
012746
000002
052777

000240
000240

104001

000402

062706

N REQ A
0127,

055077
005077

172626
172602

090200
006616

000100
000000
006600

000004
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17252«
172500
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172630
172576

172560

172560

?.
172544

N
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T47 *TEST THAT ERROR 1 IS GENERATED IF REN IS ON IB BUS

«/MODULE FAULT DETECTED:

ERROR

A AL AL AR AR AR AR ARARAAARAR AL ARl Addl il il ddd

iresr 50

M AAAAR AR LA AARRRAA AL R ARttt ii it it iidld))

TSTSO SCOPE

1

;FAILED TO GENERATE AN ERROR 1.
;9358955888 °“~ ERROR ~**$$5$5$835$

*TEST THAT AN ERROR 1 CAN GENERATE AN INTERRUPT

s *WARNING! THIS TEST IS DESIGNED TO BE EXERCISED WITH A

s*SECOUND MODULE (IBV=11) WITH SWITCH 'ER1 INH'' SET.
;*ADDRESS OF THE SECOUND MODULE IS IN LOCATION *'1852'* VECTOR
;*ADDRESS IS IN LOCATION ‘VECTA2'",

;*TO INHIBIT THE USE OF TESTING WITH A SECOUND MODULE, MAKE

*LOCATION “'$COW1'* ZERO.

CLR
CLR

()
MOV

BIS

MoV
MoV
RTI

BIS
NOP
NOP

649%:

3]8S2
alBs

#200,aPRA
#1$,aVECTA

#81T706,31BS
#0,=-(SP)
#64$,-(SP)

#8112,318BS2

;CLEAR CSRS.

:SET UP VECTOR ADDR.
SE; INTERRUPT ENABLE
:/SET CPU PRIORITY ON RETURN

;/SHOW RETURN ADDRESS
:/CAUSE A RETURN (PUTS NEW STATUS

:/IN STATUS REG.)

:GENERATE AN ERROR 1 AS PER LAST TEST.

::98353883888>>> ERROR <<<$$355333%$

ERROR

1

s/MODULE FAULT OETECTED:
sERROR 1 FAILED TO GENERATE AN INTR,

:: 59958588888 ERROR “““3333383838
B8R 2%

1%:
ADD

MOV
CLR
(LR

;:'.Q.l..'oOlQ.'Q'.'.'.'.."..'O."..iIOVOOOQ.QQ.etihitoottt.

2, ,5P

4700, 3PRA
1852
188

[ TTE MR
GHD'UJ

S/ADD 84 TO STACK POINTER,

o,. - &%
e

-'.--‘!

.ltL t" lNTRO.
:CLEAR CSRS.

L}

4* %Y

SEQ 0039

THE SECOUND [BV=11 SHOULD BE ELECTRICALLY SEC
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6654

6661
6662

6663

(2)

006646

006650
006656
006664

006670
006674
006700
006706
006714
006722
006730
006736

006749

006742

006744
006750

006752
006756

006762

006764

000004

012737
012737
005037

005077
005077
052777
052777
013777
117737
123737
001402

104004

000407

105237
001347

005077
005077

000004
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006670
000000
001126

172452
172466
000041
000020
001124
172442
001124

001126

172370
172404

o0
(o [
ol
—t

n) =
SO0

172440
172452
172426
001126
001126
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T51 *TEST THAT DATA CAN BE XFERRED BETWEEN THE MODULE UNDER TEST AND THE KGM  SEQ 0040

s*TEST 51 *TEST THAT DATA CAN BE XFERRED BETWEEN THE MODULE UNDER TEST AND THE KGM
A NOTE: KGM =KNOWN GOOD MODULE
:*IN THIS TEST WE'LL MAKE THE KGH A LISTENER
;* AND THE MODULE UNDER TEST A TALKER.
;*WE'VE ALREADY XFERRED DATA TO AND FROM THE 1B-BUS
;*VIA THE MODULE UNDER TEST. THE ONLY UNKNOWN
;IS THE CABLE CONNECTING THE KGM TO THE MODULE UNDER TEST,
'AS WELL AS THE KGM.

‘itﬁiitttt**i&*'ﬁit"tt*"it"'!'ﬁ'*tttt*"ﬁ.i't*i'ttttiﬁﬂt*tttl

7STS1: SCOPE

MOV #1$,SLPERR sSET ERROR LOOP.
Mov #0,SGDDAT sSTART PATTERN.
CLR $BDDAT

1$: CLR aIBS sCLEAR CSRS.
CLR 81882
BIS #BIT5!BIT0,21BS ;SET TON AND TCS.
BIS #8174 ,a1BS2 sSET LON ON KGM,

MoV $GDDAT,a18D :SEND PATTERN.

Mova a18D2,$8DDAT sREAD ATA FROM KGM.

(MP8 SGDDAT,$BDDAT  ;DATA SENT = DATA RECEIVED?
BEQ 2$ sYES, CONTINUE

::9858553888>>> ERROR <<<$5555588%$

ERROR & s /MODULE FAULT DETECYED:
sERROR -~ BAD DATA PASSED BETWEEN
sMODULE UNDER TEST AND KGM.

..SSSSSSSSS%S“ ERROR “‘SSSSSSSSS!

28: INCB  $GDDAT ;CHANGE PATTERN.
BNE 18 :IF NOT DONE, CONTINUE.
CLR 3185 ;CLEAR CSR'S
CLR al18s2
'QQ".'Qﬁt"'QQ'."""."'Q"Q"Qﬁt'QQQQQQQQ.QQQQQ‘Q'Q“Q'Q‘Q'
-resr 52 «TEMP END OF TESTS

ttttit.tttQtiiit‘iti'iitt'i"tititﬁ.tttttitttitiltiittttttttttt
ISTSZ SCOPE
EOP:
LSBTTL  SYSMAC ROUTINES:
.SBTTL END OF PASS ROUTINE

MRALAAAAAAAL AR AR ARAALLARAAARAARLAARARAARAMARAR AR ARRARRRRARD A,
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5:35 END OF PASS ROUTINE SEQ 0041

:*INCREMENT THE PASS NUMBER ($PASS)

;*TYPE "'END PASS #XXXXX'' (WHERE XXXXX IS A DECIMAL NUMBER)
;*]F THERES A MONITOR GO TO IT

:«IF THERE ISN'T JUMP TO RSTART

MAINDEC=11=CNIBA-A M
CNIBAA.PU 10-DEC-82 1

o

.SBTTL ERROR HANDLER ROUTINE

(1)
(1)
1)
(1)
(1)
(1) 006764 $EOP:
(1) 006764 000004 SCOPE
(1) C06766 005037 001102 CLR STSTNM s ZERO THE TEST NUMBER
(1) 006772 005037 001160 CLR $TIHES s+ ZERO THE NUMBER OF ITERATIONS
(1) 006776 005237 001202 INC $PA s INCREMENT THE PASS NUMBER
(1) 007002 042737 100000 001202 8IC #100000 $PASS ;. DON'T ALLOW A NEG. NUMBER
(1) 007010 005327 DEC (PC)+ :.LOOP?
(1) 007012 000001 $EOPCT: .WORD 1
(1) 007014 003022 BGT $DOAGN s YES
(1) 007016 012737 MOV (PC)+,a(PC)+ s RESTORE COUNTER
(1) 007020 000001 SENDCT: .WORD 1
(1) 007022 007012 SEOPCT
(1) 007024 104401 007071 TYPE SENDMG ;s TYPE “END PASS #'
(2) 007030 013746 001202 MOV $PASS, - (SP) ;s SAVE $PASS FOR TYPEOUT
(2) 007034 104405 TYPDS s+GO TYPE=-=DECIMAL ASCII WITH SIGN
(1) 007036 104401 007066 TYPE L SENULL ¢+ TYPE A NULL CHARACTER
(1) 007042 013700 000042 $GET42: MOV w62 RO :sGET MONITOR ADDRESS
(1) 007046 001405 BEQ $DOAGN « :BRANCH [F NO MONITOR
(1) 007050 000005 RESET :sCLEAR THE WORLD
(1) 007052 004710 $ENDAD: JSR PC.(RO) ::GO TO MONITOR
(1) 007054 000240 NOP s+ SAVE ROOM
(1) 007056 (000240 NOP s FOR
(1) 007060 000240 NOP s sACTI
(1) 007062 $DOAGN:
(1) 007062 000137 JMP a(PC)+ : ;RETURN
{}; 007064 002266 SRTNAD: .WORD  RSTART
1)
(1) 007066 377 377 000 S$ENULL: .BYTE  -1,-1.0 NULL CHARACTER STRING
(1) 007071 015 042412 042116 SENDMG: .ASCIZ <15><12>/END PASS
(1) 007076 050040 051501 020123
(1) 007106 000043
6??? :/DELMA
{}; '5ROUTINE TO PROVIDE DELAYS IN INCREMENTS OF 25 uUS
(1) :/ CALL= JSR RS DELS0
(1) :/ WORD (# OF 25 US TO DELAY)
1) s/ RETURNS HERE
) ;
(1) 007106 012500 DEL50: MOV (5)+,R0 :/GET # OF 25 US DELAYS
(1) 007110 012701 000002 1$: MOV #2..R1 :/# FOR LOOP TO DO 50 uS.
(1) 007114 005301 2%: DEC R1 $/DEC IT
(1) 007116 001376 BNE 2% ;/WAITED 25. TIMES?
(1) 007120 005300 DEC RO :/DONE # OF 50 US DELAY DESIRED?
(1) 007122 001372 BNE 1$ :/NO - NEXT ONE.
g}; 007124 000205 RTS RS /YES - EXTT,
670
(1)
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CNIBAA.P11 10-DEC-82 15:35 ERROR HANDLER ROUTINE SEQ 0042

(2) R e e T R R T T T P T T T TR R
(1) 'THIS ROUTINE WILL INCREMENT THE ERROR FLAG AND THE ERROR COUNT,
(1) ;*SAVE THE ERROR ITEM NUMBER AND THE ADDRESS OF THE ERROR CALL
(1) ;*AND GO TO SERRTYP ON ERROR
(1) s*THE SWITCH OPTIONS PROVIDED BY THIS ROUTINE ARE:
(1) ;*SW1s= 1 HALT ON ERROR
(1) ;*SW13=1 INHIBIT ERROR TYPEOUTS
(1 ;*SW10=1 BELL ON ERROR
(1) ; *SW09=1 LOOP ON ERROR
(1) s*CALL
2}; s ERROR N s ;ERROR=EMT AND N=ERROR ITEM NUMBER
(1) 007126 $ERROR:
(1) 007126 104407 CKSWR s TEST FOR CHANGE IN SOF T-SWR
(1) 007130 105237 001103 78: INCB SERFLG :;SET THE ERROR FLAG
(1) 007134 001775 BEQ 7% :;DON'T LET THE FLAG GO TO 2ERO
(1) 007136 013777 001102 171776 MOV STSTNM,IDISPLAY ;.DISPLAY TEST NUMBER AND ERROR FLAG
(1) 007144 032777 002000 171766 BIT #8I1T10,aSWR :;BELL ON ERROR?
(1) 007152 001402 BEQ 18 :sNO = SKIP
(1) 007154 104401 001164 TYPE $BELL s sRING BELL
(1) 007160 005237 001112 1$: INC $ERTTL ¢ sCOUNT THE NUMBER OF ERRORS
(1) 007164 011637 001116 MOV (SP) ,SERRPC +sGET ADDRESS OF ERROR INSTRUCTION
(1) 007170 162737 000002 001116 SuB #2,$ERRPC
(1) 0072176 117737 171714 001114 MOv8 aSERRPC,SITEMB ;:STRIP AND SAVE THE ERROR ITEM CODE
(1) 007204 032777 020000 171726 BIT #8I1T13,3SuR ::SKIP TYPEOUT IF SET
(1) 007212 001004 BNE 208 s SKIP TYPEOUTS
(1) 007214 004737 007314 JSR PC,SERRTYP ::G0 TO USER ERROR ROUTINE
(1) 007220 104401 00117 TYPE -SCRLF
(1) 007224 208:
(1) 007224 122737 000001 001214 CMP8 #APTENV, SENV s s RUNNING IN APT MODE
(1) 007232 001007 BNE 23 ¢ :NO,SKIP APT ERROR REPORT
(1) 007234 113737 001114 007246 Move $ITEMB,21$ ¢+SET ITEM NUMBER AS ERROR NUMBER
(1) 007242 004737 011460 JSR PC.SATYL s sREPORT FATAL ERROR TO APY
(1) 007246 000 218: .BYTE 0
(1) 007247 000 BYTE 0
(1) 007250 000777 228: BR 22% :sAPT _ERROR LOOP
(1) 007252 005777 171662 2s: TST aSWR :HALT ON ERROR
(1) 007256 100002 BPL 3s s SKIP IF CONTINUE
(1) 007260 000000 HALT ;sHALT ON ERROR!
(1) 007262 104407 CKSWR +sTEST FOR CHANGE IN SOFT-SWR
(1) 007264 032777 001000 171646 3$: BIT #BIT09,3SWR ::LOOP ON ERROR SWITCH SET?
(1) 007272 001402 BEQ 49 ::BR IF NO
(1) 007274 013716 001110 MOV $LPERR, (SP) :cFUDGE RETURN FOR LOOPING
(1) 007300 005737 001162 4s: TST SESCAPE +sCHECK FOR AN ESCAPE ADDRESS
(1) 007304 001402 BEQ 58 ::BR IF NONE
i}g 88;%?3 013716 001162 ” MOV SESCAPE, (SP) ::FUDGE RETURN ADDRESS FOR ESCAPE
(1) 007312 000002 RTI :RETURN
6??} .SBTTL ERROR MESSAGE TYPEQUT ROUTINE
(2) sARRARARRPAAANEANRNEACN RN NRCERRARRARAAANAANNRARARCRRAROARRENTRNEY
(1) tTHIS ROUTINE USES THE ''ITEM CONTROL BYTE'' (SITEMB) TO DETERMINE WHICH
(1) ;*ERROR IS TO BE REPORTED, [T THEN OBTAINS, FROM THE '‘ERROR TABLE'' (SERRTB),
;}; ;*AND REPORTS THE APPROPRIATE INFORMATION CONCERNING THE ERROR.
(1) 007314 SERRTYP:
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CNIBAA.P11  10-DEC-82 15:35 ERROR MESSAGE TYPEOUT ROUTINE SEQ 0043
(1) 007314 104401 001171 TYPE  ,$CRLF ;3''CARRIAGE RETURN'' & 'LINE FEED"
(1) 007320 010046 MOV RO, =(SP) : *SAVE RO
(1) 007322 005000 CLR RO SiPICKUP THE ITEM INDEX
(1) 007324 153700 001114 BISB  a#SITEMB,RO
(1) 007330 001004 BNE 1 ;:1F ITEM NUMBER IS ZERO, JUST
(1) ::TYPE THE PC OF THE ERROR
(2) 007332 013746 001116 MOV SERRPC,-(SP)  ::SAVE SERRPC FOR TYPEOUT
(2) *SERROR ADDRESS
(2) 007336 104402 TYPOC ::GO TYPE==OCTAL ASCIIC(ALL DIGITS)
(1) 007340 000426 BR 6 +:GET OUT
(1) 007342 005300 1%: DEC RO $:ADJUST THE INDEX SO THAT IT wWiLL
(1) 007344 006300 ASL RO i WORK FOR THE ERROR TABLE
(1) 007346 006300 ASL RO
(1) 007350 006300 ASL RO
(1) 007352 062700 001256 ADD #SERRTB, RO ; :FORM TABLE POINTER
(1) 007356 012037 007366 MOV (ROY+,26 :PICKUP "ERROR MESSAGE'® POINTER
(1) 007362 001404 BEO 3 ::SKIP TYPEOUT IF NO POINTER
(1) 007364 104401 TYPE +3TYPE THE "ERROR MESSAGE''

(1) 007366 000000 28: MORD O ::"'ERROR MESSAGE'* POINTER GOES MERE
(1) 007370 104401 001171 TYPE  .SCRLF :3"'CARRIAGE RETURN'' € '‘LINE FEED"
(1) 007374 012037 007404 3s: MOV (RO)+,48 ::PICKUP 'DATA HEADER'® POINTER

(1) 007400 001404 BEQ 5$ 13SKIP TYPEOUT IF 0

(1) 007402 104401 TYPE +:TYPE THE 'DATA HEADER''

(1) 007404 000000 48: WORD O 13'DATA HEADER'® POINTER GOES HERE
(1) 007406 104401 001171 TYPE  ,$CRLF ::‘CARRIAGE RETURN'' & 'LINE FEED™
(1) 007412 011000 5¢: MOV (RO),RO :PICKUP "DATA TABLE'* POINTER

(1) 007414 001004 BNE 7 :GO TYPE THE DATA

g}; 007416 012600 6$: MOV (SP)+,R0 $SRESTORE RO

(1) 007420 104401 001171 TYPE  ,$CRLF :3"'CARRIAGE RETURN'' & ‘‘LINE FEED"'
(1) 007424 000207 RTS pC : "RETURN

(1) 007426 7%:

(2) 007426 013046 MOV a(RO)+,=(SP)  ;:SAVE @a(R0)+ FOR TYPEOUT

(2) 007430 104402 TYPOC 2350 TYPE=--OCTAL ASCIICALL DIGITS)
(1) 007432 005710 ST (RO) *31S THERE ANOTHER NUMBER?

(1) 007434 001770 BEQ 6$ S:8R IF NO

(1) 007436 104401 007444 TYPE 8$ :3TYPE TWO(2) SPACES

(1) 007442 000771 BR s LOOP

(1) 007444 020040 000 8s: ASCIZ /7 / ..TUO(Z) SPACES

(1) 007450 "EVEN

672 .SBTTL SCOPE HANDLER ROUTINESTARS

(1) :*THIS ROUTINE CONTROLS THE LOOPING OF SUBTESTS. IT WILL INCREMENT
(1 :*AND LOAD THE TEST NUMBER{STSTNM) INTO THE DISPLAY REG.(DISPLAY<7:0>)
(1) ‘«AND LOAD THE ERROR FLAG (SERFLG) INTO DISPLAY<15:08>

(1 :«THE SWITCH OPTIONS PROVIDED BY THIS ROUTINE ARE:

(1) teSwi4=1 LOOP ON TEST

(1) teSW11=1 INHIBIT ITERATIONS

(1) t ¢SW09=1 LOOP ON ERROR

(1 teSW08=1 LOOP ON TEST IN SWR<7:0>

(1) s eCALL

ﬂ; :* SCOPE ::SCOPE=IOT

(1) 007450 $SCOPE :

(1) 007450 104407 CKSWR ;:TEST FOR CHANGE IN SOFT-SWR

(2) 007452 104407 CKSWR

(1) 007454 032777 040000 171456 18: 817 #81T14,aSWR ::LOOP ON PRESENT TEST?
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SCOPE HANDLER ROUTINESTARS

BNE
- MANNNSTART
$XTSTR: BR

MOV
MOV
TST
MOV
BR
5%: CmP
MOV

BR
6S: ;MNNANEND OF

BIT
BEQ
CMPB
BEQ
2%: 1ST8
BEQ
CMPB
BHI
BIT
BEQ
7%: MoV
BR
48 CLR8
CLR
BR
3s: BIT
BNE
IST
BEQ
INC
CMP
BGE
18: MOV
MOV
$SVLAD: INCB
MOVB
MOV
MOV
(LR
MOVB
MOV
MOV

$OVER:

RTI
SMXCNT: 2000.

SOVER

OF CODE FOR THE XOR
6$

AN#ERRVEC,~(SP)
#5$ , a#ERRVEC
an1#7060

(SP) + ,@#ERRVEC

$SVLAD
(SP)+,(SP)+

(SP)+,a#ERRVEC
7$

::YES IF SW14=1

TESTERAMNNN

..IF RUNNING ON THE °‘'XOR’'' TESTER CHANGE
sTHIS INSTRUCTION TO A 'NOP'' (NOP=240)

::SAVE THE CONTENTS OF THE ERROR VECTOR

¢sSET FOR _TIMEOUT

¢ TIME OUT ON XOR?

s ;RESTORE THE ERROR VECTOR

5:G0 _TO THE NEXT TEST

s:CLEAR THE STACK AFTER A TIME OUT

s RESTORE THE ERROR VECTOR

::LOOP ON THE PRESENT TEST

CODE FOR THE XOR TESTERANNAN

ﬂngOB.SSUR

ASWR,$TSTNM
SOVER

SERFLG

3s
§ERHAX.SERFLG
#81T09,aSWR
48

SLPERR,SLPADR
SOVER

SERFLG

STIMES

18
#BIT11,aSWR
18

$PASS

1$

$1CNT
STIMES,SICNT
SOVER
#1,81CNT
SMXCNT ,STIMES
STSTNM
STSTNM, STESTN
(SP) ,SLPADR
(SP) ,SLPERR
SESCAPE
#1,SERMAX

STSTNM,aDISPLAY

$LPADR, (SP)

-SBTTL TTY INPUT ROUTINE

MR AAAAAAAAL AR AARARRARARRARAARRRRRRRRR AR AR AR R dRdd )

.ENABL LSB

;.LOOP ON SPEC. TEST?
;:BR IF NO
::ON THE RIGHT TEST?
;BR IF YES
..gAS éN SRROR OCCURRED?

R 1
..HAX ERRORS FOR THIS TEST OCCURRED?
:BR IF NO

::LOOP ON ERROR?
::BR_IF NO
s:SET LOOP ADDRESS TO LAST SCOPE

¢sZERO THE ERROR FLAG
s;CLEAR THE NUMBER OF ITERATIONS TO MAKE
s;ESCAPE TO THE NEXT TEST
::INHIBIT ITERATIONS?
:BR IF YES
..IF FIRST PASS OF PROGRAM
INHIBIT ITERATIONS
: : INCREMENT ITERATION COUNT
;s CHECK THE NUMBER OF ITERATIONS MADE
¢+:BR IF MORE ITERATION REQUIRED
s;REINITIALIZE THE ITERATION COUNTL .
ssSET NUMBER OF JTERATIONS TO DO
s;COUNT TEST NUMBERS
ssSET _TEST NUMBER IN APT MAILBOX
.+ SAVE SCOPE LOOP ADDRESS
s+ SAVE ERROR LOOP ADDRESS
ssCLEAR THE ESCAPE FROM ERROR ADDRESS
s;ONLY ALLOW ONE(1) ERROR ON NEXT TEST
s:DISPLAY TEST NUMBER
s .FUDGE RETURN ADDRESS
ssFIXES PS
s sMAX. NUMBER OF ITERATIONS

SWR<7:0>

sttt etttttdtted Rt ettt OERORRRAARRARARRARRCRACROROARCEARANGCRONTTTS

'SOFTUARE SWITCH REGISTER CHANGE ROUTINE.

SEQ 0044
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TTY INPUT ROUTINE

;*ROUTINE 1S ENTERED FROM THE TRAP HANDLER, AND WILL
s*SERVICE THE TEST FOR CHANGE IN SOF TWARE SWITCH REGISTER TRAP C(ALL
: *\WHEN OPERATING IN TTY FLAG MOOE.

$CKSWR: CMP #SWREG, SWR
BNE 15¢
ISTB  a$TKS
BPL 158
MOVBE  a$TKB,=(SP)
BIC £°C177.(SP)
CMP #7.(SP)+
BNE 15§
CMP8  $AUTOB, #1
BEQ 15$
TYPE  ,$CNTLG
$GTSWR: TYPE  .SMSWR
MOV SWREG,~(SP)
TYPOC
TYPE ,SMNEW
198 : CLR <(SP)
CLR -(SP)
;:THE NEW SWR
78: TSTB @$TKS
BPL 78
MOVB  as$TKB,~(SP)
8I¢ #5C177,(SP)
98 : CMP (SP) ,#25
BNE 108
TYPE  .SCNTLU
208: ADD #6,SP
B8R 19%
108: CMP (sP),#15
BNE 168
ST 4(SP)
BEQ 11%
MOV 2(SP),asSwR
118:  ADD #6,SP
148 : TYPE ,$CRLF
C(MPB  SINTAG,#1
BNE 15%
MOV #100,387KS
15%: RT1]
168:  JSR PC.STYPEC
CMP (SP),#60
BLT 18%
CMP (SP) ,#67
86T 18
8IC #60, (SP)+
ST 2(5P)
BEQ 17%

;1S THE SOFT=-SWR SELECTED?
J:BRANCH IF NO

::CHAR THERE?

;oIF NO, DON'T WAIT AROUND
JsSAVE THE CHAR

::STRIP=-0OFF THE ASCII

2:1S IT A CONTROL G?

2:NO, RETURN TO USER

JJARE WE RUNNING IN AUTO-MODE?
;:BRANCH ]F YES

ssECHO THE CONTROL-G (*G)

s+ TYPE CURRENT CONTENTS

s SAVE SWREG FOR TYPEOUT

::G0 TYPE==OCTAL ASCIICALL DIGITS)
s sPROMPT FOR NEW SWR

;s CLEAR COUNTER

s CHAR THERE?
soIF NOT TRY AGAIN

sP1CK UP CHAR
SSMAKE IT 7-BIT ASCII

oIS IT A CONTROL=-U?
;sBRANCH IF NOT

JsYES, ECHO CONTROL-U (*U)
2 s IGNORE PREVIOUS INPUT
22LET'S TRY [T AGAIN

2018 IT A <CR>?

:;BRANCH IF NO

J3YES, IS IT THE FIRST CHAR?
::BRANCH IF YES

::SAVE NEW SWR

JsCLEAR UP STACK

::ECHO <CR> AND <LF>
J;RE-ENABLE TTY KBD INTERRUPTS?
;;BRANCH [F NOT

JJRE=ENABLE TTY KBD INTERRUPTS
:2RETURN

J;ECHO CHAR

J:CHAR < 0?

:;BRANCH [F YES

J:CHAR > 7?

:;BRANCH IF YES

$:STRIP=-0FF ASCII]

Jo1S THIS THE FIRST (HAR
J;BRANCH [F YES

SEQ 0045
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MAINDEC=~11=-CNIBA=A MACY1
CNIBAA.P 10-DEC-82 15:35 TTY INPUT ROUTINE SEQ 0046
(1) 010166 006316 ASL (SP) J:NO, SHIFT PRESENT
(1) 010170 006316 ASL (SP) H CHAR OVER TO MAKE
(1) 010172 006316 ASL (SP) 3 ROOM FOR NEW ONE.
(1) 010174 005266 000002 17%: INC 2(SP) JsKEEP COUNT OF (HAK
(1) 010200 056616 177776 BIS =2(SP), (SP) ssSET IN NEW CHAR
(1) 010204 000707 BR 7$ csGET THE NEXT ONE
(1) 010206 104401 001170 18%: TYPE $QUES J:TYPE 2<CRO<LF>
(1) 010212 000720 BR 20s : :SIMULATE CONTROL=-U
) .DSABL LSB
i
(2) (RN AR NN NN A R NN C R RN AP R RN NN RN AN RANR AN GR O NAN RO EROONSER
g}; :*E:IE ROUTINE WILL INPUT A SINGLE CHARACTER FROM THE TTY
s*CALL:
(1) o RDCHR J:INPUT A SINGLE CHARACTER FROM THE TTv
(1) o RETURN HERE s sCHARACTER IS ON THE STA(K
:}; (3 s;WITH PARITY BIT STRIPPED OFF
(1)
(1) 010214 011646 $RDCHR: MOV (SP) ,~(SP) ::PUSH DOWN THE PC
(1) 010216 016666 000004 000002 MOV 4(SP),2(SP) ;:SAVE THE PS
(1) 0102246 105777 170714 1%: 1ST8 a$TKS J:WAIT FOR
(1) 010230 100375 BPL 18 s:A CHARACTER
(1) 010232 117766 170710 000004 MOVB as$TkB,4 (SP) ssREAD THE TTY
(1) 010240 042766 177600 000004 BIC #°C<177>,4(SP)  ::GET RID OF JUNK IF ANY
(1) 010246 026627 000004 000023 CMP 4(SP).123 3:IS IT A CONTROL-S?
(1) 010254 001013 BNE 3 J:BRANCH IF NO
(1) 010256 105777 170662 2$: 1ST8 a$TKS JsWAIT FOR A CHARACTER
(1) 010262 100375 BPL 2% ceLOOP UNTIL ITS THERE
(1) 01026& 1717746 170656 MOVB a$TKB,~(SP) J:GET CHARACTER
(1) 010270 042716 177600 8IC #‘C177,(SP) s:MAKE IT 7-BIT ASCII
(1) 010274 022627 000021 (MP (SP)+,#21 2s1S 1T A CONTROL=-Q?
(1) 010300 001366 BNE 23 ss1F NOT DISCARD IT
(1) 010302 000750 B8R 19 s.YES, RESUME
(1) 010304 026627 000006 000140 3%: CMP 4(SP) #1140 JsIS 1T UPPER CASE?
(1) 010312 002407 BLT 43 :sBRANCH IF YES
(1) 010314 026627 000004 000175 (MP 4&(SP),M75 ;oIS IT A SPECIAL CHAR?
(1) 010322 003003 B8GT (4 3 ;;BRANCH IF YES
(1) 010324 042766 000040 000004 8IC #40,4(SP) ssMAKE IT JPPER CASE
(1) 010332 000002 49 RT] 2:G0 BACK TU USER
(2) JINERARANENENERENERNCLACRTAERRELAN RANCANNERARARAROENROLNRNROCRROCCNTR
g}; :tzgif ROUTINE WILL INPUT A STRING FROM THE TTY
o‘ :
(1) o RDLIN J2INPUT A STRING FROM THE TTY
(1) o RETURN HERE s sADDRESS OF FJRST CHARACTER WILL BE ON THE STACK
g}; o ssTERMINATOR WILL BE A BYTE OF ALL 0°'S
(1) 010334 010346 SRDLIN: MOV R3,-(SP) s :SAVE R3
(1) 010336 012/03 010442 1$: MOV #STTYIN,R3 J:GET ADDRESS
(1) 010342 022703 010452 2%: CMP #STTYIN®B. RS  ;,BUFFER FULL?
(1) 010346 101405 8LOS 4 ;:BR JF YES
(1) 010350 104410 RDCHR 23G0 READ ONE CHARACTER FROM THE TTY
(1) 010352 112613 MOVB (SP)+,(R3) 3sGET CHARACTER
(1) 010356 122713 000177 10$: (MPB #177,(R3) :21S 1T A RUBOUT
(1) 010360 001003 8NE 3% J:SKIP IF NOT
(1) 010362 104401 001170 4%: TYPE . SQUES JITYPE A '
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000763 BR ;. CLEAR THE BUFFER AND LOOP

(1) 010366 1%

(1) 010370 111337 010440 3$: Mov8 (R3),9% s;ECHO THE CHARA(CTER

(1) 010374 104401 010440 TYPE .98

(1) 010400 122723 000015 cMPB #15.(R3) ¢ ;s CHECK FOR RETURN

(1) 010404 001356 BNE 2% 2;LOOP IF NOT RETURN

(1) 010406 105063 177777 CLRB -1(R3) ::CLEAR RETURN (THE 15)

(1) 010412 104401 001172 TYPE SLF ¢ TYPE A LINE FEED

(1) 010416 012603 MOV (SP)+,R3 : ;RESTORE R3

(1) 010420 011646 MOV (SP) ,=(SP) 2;ADJUST THE STACK AND PUT ADDRESS OF THE
(1) 010422 016666 000004 000002 MOV 4&(SP) ,2(SP) ¥ FIRST ASCII CHARACTER ON IT
(1) 010430 012766 010442 000004 MoV #STTYIN,4L(SP)

(1) 010436 000002 RT1 s sRETURN

(1) 010440 000 9%: BYTE 0 s s STORAGE FOR ASCI! CHAR. TO TYPE
(1) 010441 000 .BYTE 0 ¢ s TERMINATOR

(1) 010442 000010 STTYIN: .BLkB_ 8. s ;RESERVE 38 BYTES FOR TTY INPUT
(1) 010452 052536 005015 000 SCNTLU: .ASCIZ /4U/<15><12> ;s CONTROL °V"

(1) 010457 136 006507 000012 SCNTLG: .ASCIZ /4G/<15><12> :;CONTROL *'G"

(1) 010464 005015 053523 020122 SMSWR: .ASCIZ <15><12>/SWR = /

(1) 010472 020075 000

(1) 010475 040 047040 053505 SMNEW: .ASCIZ / NEW =/

(1) 010502 036440 000040
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6?:? .SBTTL BINARY TO OCTAL (ASCII) AND TYPE

(2) .':Q.'tit.'t"tttt.tttti"Q.'"'..'.it.'t"".'i".t"..Q.Q.QQQQ'Q

(1) :*THIS ROUTINE IS USED TO CHANGE A 16-BIT BINARY NUMBER TO A 6-DIGIT

(1) :*0CTAL (ASC!.) NUMBER AND TYPE IT.

2}; :'%I{EOS'--ENTER HERE TO SETUP SUPPRESS ZEROS AND NUMBER OF DIGITS TO TYPE
HA .

(1) .t MOV NUM,~(SP) ::NUMBER TO BE TYPED

Q) i TYPOS :sCALL FOR TYPEOUT

(1 H .BYTE N ¢;N=1 T0 6 FOR NUMBER OF DIGITS TO TYPE

(1) H BYTE M ::M=1 0RO

(1) o ;2 1=TYPE LEADING ZEROS

g}; M ; :0=SUPPRESS LEADING ZEROS
:t

(B :*$TYPON====ENTER HERE TO TYPE OUT WITH THE SAME PARAMETERS AS THE LAST

1) :«$TYPOS OR $TYPOC

Q) s*CALL:

(1 o MoV NUM,=-(SP) :;NUMBER TO BE TYPED

g}; 13 TYPON ::CALL FOR TYPEOUT
;t

2}; :'%LIFOC”’ENTER HERE FOR TYPEOUT OF A 16 BIT NUMBER
oY :

(1) o Mov NUM, = (SP) ;:NUMBER TO BE TYPED

g}; 1 TYPOC ;3CALL FOR TYPFOUT

(1) 010506 017646 000000 $TYPOS: MOV a(SP),=(SP) ;:PICKUP THE MODE

(1) 010512 116637 000001 010731 MOVB 1(SP) ,$OF ILL 2:LO0AD ZERO FILL SWITCH

(1) 010520 112637 010733 MOV8 (SP)+,$OMODE+1 ;;NUMBER OF DIGITS TO TYPE

(1) 010524 062716 000002 ADD #2,(SP) $:ADJUST RETURN ADDRESS

(1) 010530 000406 BR $TYPON

(1) 010532 112737 000001 010731 S$TYPOC: MOVB ”,S0FILL ::SET THE ZERO FILL SWITCH

(1) 010540 112737 000006 010733 MOVv8 #6,30MODE +1 S:SET FOR SIX(6) DIGITS

(1) 010546 112737 000005 010730 STYPON: MOVB #5,80CNTY 22SET THE ITERATION COUNT

(1) 010554 010346 Mov R3,-(SP) ::SAVE R3

(1) 010556 010446 MOV R4 ,=(SP) ::SAVE R4

(1) 01056u 010546 MOV RS.,=(SP) ::SAVE RS

(1) 010562 113704 010733 MOV8 $OMODE+1,R4 ::GET THE NUMBER OF DIGITS TO TYPE

(1) 010566 005404 NEG R4

(1) 010570 062704 000006 ADD #6,R4 :3SUBTRACT 1T FOR MAX. ALLOWED

(1) 010524 110437 010732 MOVB R4 ,$OMODE J3SAVE IT FOR USE

(1) 010600 113704 010731 MOVB $OFILL ,RG J3GET THE ZERO FILL SWIT(CH

(1) 010604 016605 000012 MOV 12(SP),RS ::PICKUP THE INPUT NUMBER

(1) 010610 005003 (LR R3 :;CLEAR THE OUTPUT.UORD

(1) 010612 006105 1$: ROL RS :sROTATE MSB INTO °*'C**

(1) 010614 000404 B8R 33 ::G0 DO MS8

(1) 010616 006105 2%: ROL RS ::;FORM THIS DIGIT

(1) 010620 006105 ROL RS

(1) 010622 006105 ROL RS

(1) 010624 010503 MOV RS.R3

(1) 010626 006103 3$: ROL R3 :;GET LSB OF THIS DIGIT

(1) 010630 105337 010732 DE(CB $OMODE ;. TYPE THIS DIGIT?

(1) 010634 100016 B8PL 7% ;:BR JF NO

(1Y 010636 042703 177770 BIC #177770,R3 ::GET RID OF JUNK

(1) 010642 001002 BNE 43 ;:TEST FOR O

(1) 010644 005704 IST R4 : s SUPPRESS THIS 0?

(1) 010646 001403 BEQ 5% ;s8R IF YES
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(1) 010650 005204 48: INC R4 ;;DON'T SUPPRESS ANYMORE 0°'S
(1) 010652 052703 000060 BIS #'0,R3 “:MAKE THIS DIGIT ASCII
(1) 010656 052703 000040 5$: BIS # .R3 SSMAKE ASCII IF NOT ALREADY
(1) 010662 110337 010726 MOVB  R3,8% *:SAVE FOR TYPING
(1) 010666 104401 010726 TYPE 13 1360 TYPE THIS DIGIT
(1) 010672 105337 010730 78: DECB  $OCNT ::COUNT BY 1
(1) 010676 003347 BGT 2 ‘:BR IF MORE TO DO
(1) 010700 002402 BLT é$ $:BR IF DONE
(1) 010702 005204 INC R4 s INSURE LAST DIGIT ISN'T A BLANK
(1) 010704 000744 BR 2$ ©3G0 DO THE LAST DIGIT
(1) 010706 012605 6$: MOV (SP) +,RS *:RESTORE RS
(1) 010710 012604 MOV (SP) + R& :*RESTORE R
(1) 010712 012603 MOV (SP)+.R3 :RESTORE R3
(1) 0107164 016666 000002 000004 MOV 2(SP) .4 (SP) S3SET THE STACK FOR RETURNING
(1) 010722 012616 MOV (SP)+,(SP)

(1) 010724 000002 RTI : :RETURN

(1) 010726 000 8s: .BYTE 0 :STORAGE FOR ASCII DIGIT

(1) 010727 000 .BYTE 0 2:TERMINATOR FOR TYPE ROUTINE
(1) 010730 000 $OCNT: .BYTE 0 230CTAL DIGIT COUNTER

(1) 010731 000 $OFILL: .BYTE 0 232ERO FILL SWITCH

(1) 010732 000000 $SOMODE: .WORD 0 J:NUMBER OF DIGITS TO TYPE
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6677

6?{? .SBTTL CONVERT BINARY TO DECIMAL AND TYPE RIJUTINE
(2) . ;tttttttttttttttttttttttttttlttttttttttttttttttttttttttttttttttt
(1) :*TH]S ROUTINE IS USED TO CHANGE A 16-BIT BINARY NUMBER TO A S5-DIGIT
(1 :«SIGNED DECIMAL (ASCII) NUMBER AND TYPE IT. DEPENDING ON WHETHER THE
(1) $*NUMBER IS POSITIVE OR NEGATIVE A SPACE OR A MINUS SIGN WILL BE TYPED
(1 :*BEFORE THE FIRST DIGIT OF THE NUMBER. LEADING ZEROS WILL ALWAYS BE
E}} :t?EEtACED WITH SPACES.

¥ :

1) ot MOV NUM,=(SP) 2:PUT THE BINARY NUMBER ON THE S1ACK
:}; ot TYPDS ;360 TO THE ROUTINE
(1) 010734 $TYPDS :
(3) 010734 010046 MOV RO,=(SP) ::PUSH RO ON STACK
(3) 010736 010146 MOV R1,-(SP) 2 :PUSH R1 ON STACK
(3) 010740 010246 MoV R2,=(SP) :;PUSH R2 ON STACK
(3) 010742 010346 MOV R3,=(SP) :2OUSH R3 ON STACK
(3) 010744 010546 MoV RS ,=(SP) ::PUSH RS ON STACK
(1) 010746 012746 020200 MOV #20200,-(SP)  ::SET BLANK SWITCH AND SIGN
(1) 010752 016605 000020 MOV 20(SP) RS JsGET THE INPUT NUMBER
(1) 010756 100004 BPL 18 22:BR IF INPUT IS POS.
(1) 010760 005405 NEG RS J:MAKE THE BINARY NUMBER POS.
(1) 010762 112766 000055 000001 MovBs #'=,1(SP) ::MAKE THE ASCJI NUMBER NEG.
(1) 010770 005000 1¢: CLR RO J:JERO THE CONSTANTS INDEX
(1) 010772 012703 011150 MOV #$DBLK,R3 ::SETUP THE OUTPUT POINTER
(1) 010776 112723 000040 Mov8  #' ,(R3)+ :3SET THE FIRST CHARACTER TO A BLANK
(1) 011002 005002 28: CLR R2 ::CLEAR THE BCD NUMBER
(1) 011006 016001 011140 MOV $DTBL(RO),R1  ;:GET THE CONSTANT
(1) 011010 160105 3$: sUB R1.RS *SFORM THIS BCD DIGIT
(1) 011012 002402 8LT 43 ‘:BR IF DONE
(1) 011014 005202 INC R2 : S INCREASE THE BCD DIGIT BY 1
(1) 011016 000774 BR 3s
(1) 011020 060105 4%: ADD R1,RS :ADD BACK THE CONSTANT
(1) 011022 005702 ST R2 2 3CHECK IF BCD DIGIT=0
(1) 011024 001002 BNE 5% J;FALL THROUGH IF 0
(1) 011026 105716 TST8B (SP) J:STILL DOING LEADING 0°S?
(1) 011030 100407 BMI 78 S:BR IF YES
(1) 011032 106316 5%: ASL8 (SP) 1 :MSD?
(1Y 011034 103003 8CC 6% J:BR IF NO
(1) 011036 116663 000001 177777 ) MOVB 1(SP) ,=-1(R3) 2:YES-=-SET THE SIGN
(1) 011044 052702 000060 68 : 8IS #°0,R0 :MAKE THE BCD DIGIT ASCII
(1) 011050 052702 000040 78: BIS 2 .R? S:MAKE IT A SPACE IF NOT ALREADY A DIGIT
(1) 011056 110223 MOovB R2.,(R3)+ ::PUT THIS CHARACTER IN THE OUTPUT BUFFER
(1) 011056 005720 ST (RO) + 23 JUST INCREMENTING
(1) 011060 020027 000010 CMP RO,#10 P:CHECK THE TABLE INDEX
(1) 011064 002746 BLT 28 2360 DO THE NEXT DIGIT
(1) 011066 003002 BGT 8$ 2360 TO EXIT
(1) 011070 010502 MOV RS,R2 S3GET THE LSD
(1) 011072 000764 BR 6% 260 CHANGE TO ASCII
(1) 011074 105726 8s: TST8  (SP)+ :*WAS THE LSD THE FIRST NON-ZERO?
(1) 011076 100003 BPL 9% S:BR IF NO
(1) 011100 116663 177777 177776 MOVB  =-1(SP),-2(R3)  ::YES=--SET THE SIGN FOR TYPING
(1) 011106 105013 9% : CLRB  (R3) S3SET THE TERMINATOR
(3) 011110 012605 MOV (SP)+ RS 2:POP STACK INTO RS
(3) 011112 012603 MOV (SP)+.R3 :3POP STACK INTO R3
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(3) 011114 012602 MOV (SP)+,R2 :sPOP STACK INTO RZ2

(3) 011116 012601 MOV (SP) + ,R1 J:POP STACK INTO R1

(3) 011120 012600 MOV (SP)+,R0O ::POP STACK INTO RO

(1) 011122 104401 011150 TYPE $DBLK ::NOW TYPE THE NUMBER

(V) 011126 016666 000002 000004 MOV é(SP).A(SP) :;ADJUST THE STACK

(1) 0111346 012616 MOV (SP)+,(SP)

(1) 011136 000002 RTI :sRETURN TO USER

(1) 011140 023420 $DTBL: 10000.

(1) 011142 001750 1000.

(1) 011144 000144 100.

(1) 011146 000012 10.

(1) 011150 000004 $OBLK: .BLKW &

6??? .SBTTL TYPE ROUTINE

(2) ::*tiit.itﬁtiﬁﬁttﬁ*ii""tt'li.‘""*ttﬁtt'tttt"t"'ttﬁt.tt"."it'

(1) :*ROUTINE TO TYPE ASCI2 MESSAGE. MESSAGE MUST TERMINATE WITH A 0 BYTE.

(1) :*THE ROUTINE WILL INSERT A NUMBER OF NULL CHARACTERS AFTER A LINE FEED.

(1) :*NOTE1: SNULL CONTAINS THE CHARACTER TO BE USED AS THE FILLER CHARACTER.

(1) :*NOTE2: $FILLS CONTAINS THE NUMBER OF FILLER CHARACTERS REQUIRED.

2}; :*NOTES3: $FILLC CONTAINS THE CHARACTER TO FILL AFTER.
:*

1) :wCALL:

1) :%1) USING A TRAP INSTRUCTION

E}; :*0R TYPE +MESADR :sMESADR IS FIRST ADDRESS OF AN ASCIZ STRING
;t

(1) I3 TYPE

1 o® MESADR

o

(1) 011160 105737 001157 $TYPE: TSTB $TPFLG :31S THERE A TERMINAL?

(1) 011164 100002 BPL 1% ;sBR IF YES

(1) 011166 000000 HALT JoHALT HERE IF NO TERMINAL

(1) 011170 000430 8R 3s s sLEAVE

(1) 011172 010046 1%: MOV RO,=-(SP) ::SAVE RO

(1) 011176 017600 000002 MOV al2(sSP) RO 2:GET ADDRESS OF ASCIZ STRING

(1) 011200 122737 000001 001214 CMPB #APTENV,SENV JJRUNNING IN APT MODE

(1) 011206 001011 BNE 62% $eNO,GO CHECK FOR APT CONSOLE

(1) 011210 132737 000100 001215 BITB #APTSPOOL ,SENVM ;:SPOOL MESSAGE TO APT

(1) 011216 001405 BEQ 62% :2NO,GO CHECK FOR CONSOLE

(1) 011220 010037 011230 MOV RO,61% JSETUP MESSAGE ADDRESS FOR APT

(1) 011224 004737 011450 ] JSR PC,8ATY3 :2SPOOL MESSAGE TO APT

(1) 011230 000000 ols: WORD O ;s sMESSAGE ADDRESS

(1) 011232 132737 000040 001215 62%: 8IT8 #APTCSUP,SENVM ;.APT CONSOLE SUPPRESSED

(1) 011240 001003 BNE 60% ::YES,SYIP TYPE OUT

(1) D11242 112046 2%: MOVB (RO)+,~-(SP) :PUSH CHARACTER TO BE TYPED ONTO STACK

(1) 011244 001005 BNE (A 3 2:BR IF IT ISN'T THE TERMINATOR

(1) 011246 005726 TST (SP)+ :31F TERMINATOR POP IT OFF THE STACK

(1) 011250 012600 508: MOV (SP)+,R0 JRESTORE RO

(1) 011252 062716 000002 3s: ADD #2,(SP) ::ADJUST RETURN PC

(1) 011256 000002 RT] : :RETURN

(1) 011260 122716 000011 4%: CMPB #HT, (SP) ::BRANCH IF <HD>

(1) 011264 001430 BEQ 8%

(1) 011266 122716 000200 (MPB #CRLF, (SP) ::BRANCH JF NOT <CRLF>

(1) 011272 001006 BNE 5%

(1) 011274 005726 18T (SP)+ ;:POP  <CR><LF> EQUIV

(1) 011276 104401 TYPE J2TYPE A CR AND LF




—

MAINDEC~11=CNIBA=A

N
ACY11 30(1046) 15-DEC~82 16:09 PAGE 59-2
10-DEC-82 35

!
\
)
t
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L (1) 011300 001171 $CRLF
(1) 011302 105037 011436 CLRB  $CHARCNT ::CLEAR CHARACTER COUNT
(1) 011306 000755 BR 2$ “:GET NEXT CHARACTER
(1) 011310 004737 011372 5% JSR PC,STYPEC <:G0 TYPE THIS CHARACTER
(1) 011314 123726 001156 63: (MPB  SFILLC.(SP)+ 2:IS IT TIME FOR FILLER CHARS.?
(1) 011320 001350 BNE 2% ;:1F NO GO GET NEXT CHAR.
(1) 011322 013746 001154 MOV $NULL ,~-(SP) ::GET # OF FILLER CHARS. NEEDED
(1) :AND THE NULL CHAR.
(1) 011326 105366 000001 7$: DECB 1(SP) SDOES A NULL NEED TO BE TYPED?
(1) 011332 002770 BLT 63 ;:BRIF NO--GO POP THE NULL OFF OF STACK
(1) 011334 004737 011372 JSR PC,$TYPEC :GO TYPE A NULL
(1) 011340 105337 011436 DECB  $CHARCNT 1300 NOT COUNT AS A COUNT
g}; 011344 000770 BR 7$ ::LOOP
2}; :HORIZONTAL TAB PROCESSOR
(1) 011346 112716 000040 8$: MOvB  #' ,(SP) : ;REPLACE TAB WITH SPACE
(1) 011352 004737 011372 9% JSR PC,STYPEC ::TYPE A SPACE
(1) 011356 132737 000007 011436 BITB  #7.$CHARCNT ::BRANCH IF NOT AT
(1) 011364 001372 BNE 9% ::TAB STOP
(1) 011366 005726 TST (SP)+ »:POP SPACE OFF STACK
(1) 011370 000724 BR 2% +:GET NEXT CHARACTER
(1) 011372 105777 167552 $TYPEC: TSTB  a$TPS ::WAIT UNTIL PRINTER IS READY
(1) 011376 100375 BPL $TYPEC
g}; 011400 116677 000002 167544 MOVB  2(SP),as$TPB ::LOAD CHAR TO BE TYPED INTO DATA REG.
(1) 011406 122766 000015 000002 CMPB  #CR.,2(SP) ;:1S CHARACTER A CARRIAGE RETURN?
(1) 011414 001003 BNE 1% :BRANCH [F NO
(1) 011416 105037 011436 CLRB  SCHARCNT ..YES--CLEAR CHARACTER COUNT
(1) 011422 000406 BR $TYPEX SEXIT
(1) 011424 122766 000012 000002 18$: CMPB  #LF,2(SP) ::1S CHARACTER A LINE FEED?
(1) 011432 001402 BEQ $TYPEX - :BRANCH IF YES
(1) 011436 105227 INCB (PC)+ <:COUNT THE CHARACTER
(1) 011436 000000 $CHARCNT:.WORD O < :CHARACTER COUNT STORAGE
g}; 011440 000207 $TYPEX: RTS PC
0
6??9 LSBTTL APT COMMUNICATIONS ROUTINE
(2) ttt-tttt.ttttttttttttt'tt'ttttnttqt-tt.otq.tt.t.otooocn.ott.o'c
(1) 011642 112737 000001 011706 SATYI Move 21,8FFLG :TO REPORT FATAL ERROR
(1) 011450 112737 000001 011704 SATYS: MOVB  #1.SMFLG :TO TYPE A MESSAGE
(1) 011456 000403 B8R SATYC
| (1) 011460 112737 000001 011706 SATv4L: MOVB  #1,.8FFLG ::T0 OMLY, REPORT rA!AL £ RROR
(1) 011666 SATY(:
L (3) 011466 010046 MOV RO.-(SP) ::PUSH RO ON STACK-
) (3) 011470 010146 MmOV R1,=-(SP) ::PUSH RY O STA(K
(1) 011472 105737 011704 1ST8  $AFLG SISHOULD TYPE A ME SSAGE®
(1Y P76 001470 scQ 5% ;218 NOT: OO
Cis 11500 Ve ’sSr Jw00l YUk CMFY BAPTL oy, SENY :.'DFERA:I'«'; veotR A&
. (1) 011566 001C31 BNE 33 < 1F NOT.
(1) u11570 132737 06C100 001215 BIT8  SAPTTPOOL ,$ENVA ..suou1n SPOOL " S3AuES?
[ (13 01516 0G14c5 BEQ 38 JIF
(1) 211520 S:?goo ¢ MoV 3¢ 1SP) RO " iGET !ESalﬁf [ Von B
(3) D 326 (n2r66 €002 000004 ADD w2.4(SP :BW NE TUids ADDA.

SEQ 0052
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15:35
001174
001210

001210

001212
000004

000004
000002
177776
011160
011706
001214

001174

012050
000300

001174

011616
000004

001176
000004

000024
000026

000024

1$: ST $MSGTYPE
BNE 1$
MOV RO, $MSGAD
::PUT ADDR IN MAILBOX
2s: 1S18 (RO) ¢
BNE 2$
SUB $MSGAD ,RO
ASR RO
MOV RO, $MSGLGT
MOV #4 , $SMSGTYPE
BR 5¢
3$: MOV 34 (SP) 48
ADD #2,4(SP)
MOV 170776,~(SP)
JSR PC,$TYPE
gg: WORD O
108: 1STB  SFFLG
BEQ 12%
ST SENV
BEQ 12%
11$: TST $MSGTYPE
BNE 118
MOV 34 (SP) ,$FATAL
ADD #2,4(SP)
INC $MSGTYPE
128: CLRB  $FFLG
CLRB  SLFLG
CLRB  S$MFLG
MOV (SP)+,R1
MOV (SP)+,R0
RTS PC
$SMFLG: .BYTE 0
$LFLG: .BYTE O
-:L0G FLAG
$FFLG: .BYTE O
.EVEN
APTSIZE=200
APTENV=001

APTSPOOL=100
APTCSUP=040

;;SEE IF DONE W/ LAST XMISSION?
;o IF NOT: WAIT

:;FIND END OF MESSAGE

;:SUB START OF MESSAGE

:sGET MESSAGE LNGTH IN WORDS
s PUT LENGTH IN MAILBOX

s TELL APT TO TAKE MSG.

::PUT MSG ADDR IN JSR LINKAGE
- -BUMP RETURN ADDRESS

::PUSH 177776 ON STACK

S:CALL TYPE MACRO

;2SHOULD REPORT FATAL ERROR?
:2IF NOT: BR
2 sRUNNING UNDER APT?
J:IF NCT: B8R
ssFINISHED LAST MESSAGE?
J:JF NOT: WAIY
J2GET ERROR #
2:BUMP RETURN ADDR.
J:TELL APT TO TAKE ERROR
:2CLEAR FATAL FLAG
J:CLEAR LOG FLAG
s:CLEAR MESSAGE FLAG
J:POP STACK INTO R1
::POP STACK INTO RO
; :RETURN
J:MESSG. FLAG

s ;FATAL FLAG

.SBTTL POWER DOWN AND UP ROUTINES

A AR A2 RRRARRRRRRRRR2 02 2 dR R0 iR RadRRdndddl],

“POWER DOWN ROUTINE

$PWRDN: MOV
MOV
MOV
MOV
MOV
MOV
MOV
MOV
MOV
MOV
MOV

#S$ILLUP . .Q#PWRVEC ;.SET

FOR FAST UP

#PR6 ,@#PWRVEC+2 ;;PRIO:6

RO,-(SP)
R1,=(SP)
R2,=(SP)
R3,~(SP)
R4 ,=(SP)
R5,~(SP)
aSWR,~(SP)
SP,$SAVR6

::SAVE
#SPURUP ,3#PWRVEC ;. SET

:;PUSH RO ON STACK
s;PUSH R1 ON STACK
:sPUSH R2 ON STACK
::PUSH R3 ON STACK
;sPUSH R4 ON STACK
:7PUSH RS ON STACK
s :PUSH aSWR ON STACK

SP
UP VECTOR

SEQ 0053
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011
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012034
012042
012044
012046
012050
012052
012054
012056
012064
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000000
000776

012737
013706
005037
005237
001375
012677
012605
012604
012603
012602
012601
012600
012737
012737
104401
012056
000002
000000
000776
000000
005015
000122

011637
162737

023727
003402

000000
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011710
00030C

047520

000024

000024
000026

042527

012132
000006 012132
012132 001000
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POWER DOWN AND UP ROUTINES SEQ 0054
HALT
BR Y. : sHANG UP

AL AAR AL A A L AR ARl AR AR AR AR AR RRRRRRla Rl Rdd])

‘POWER UP ROUi INE
$PWRUP: MOV #SILLUP,#PWRVEC ;:SET FOR FAST DOWN

MoV $SAVR 6.S ::GET SP

(LR $SAVR6 ..HAIT LOOP FOR THE TTY
1$: INC $SAVRG ;:WAIT FOR THE INC

BNE 1$ ::0F WORD

MOV (SP) +,asSWR ::POP STACK INTO @SWR

MoV (SP)¢+,R5
MOV (SP) ¢+ ,R4
Mov (SP)+,R3
MOV (SP)+,R2

:;POP STACK INTO RS

;:POP STACK INTO R4

:sPOP STACK INTO R3

::POP STACK INTO R?2

MOV (SP) ¢+ ,R1 ,,POP STACK INTO R1

Mov (SP)+ RO JPOP STACK INTO RO

MoV #SPURDN BJPHRVEC ..SET UP THE POWER DOWN VECTOR
MoV #PRG, J#PWRVEC+2 ::PR]0:6

TYPE ¢REPORY THE POWER FAILURE
$PWRMG: ﬁ??RD $POWER ; ;POMER FAIL MESSAGE POINTER
$ILLUP: HALT s THE POWER UP SEQUENCE WAS STARTED
B8R =2 :s BEFORE THE POWER DOWN WAS COMPLETE
$SAVR6: 0 :;PUT THE SP HERE
SPOWER: .ASCIZ <15><712>''POWER'’
.EVEN

X
;*THIS ROUTINE WILL PROTECT THE PROGRAM
*FROH INTERRUPTS.

tTHE TRAPOCSTCHERZIS SET UP FOR
st +

HA .WORD JSR PC.RO

b

s*]JLLEGAL INTERRUPTS OR INTERRUPTS TO THE WRONG VECTOR

2*GOTO THE VECTOR AND PICK UP THE °'*.+2'' AS AN ADDRESS

s*AND ''4700°° AS NEW STATUS.

tTHE .+¢ AS A PC WILL CAUSE EXECUTION OF THE ‘‘JSR PC,RO'" (AN ILLEGAL INSTR).
*AND TRAP TO LOCATION *‘4''. IN LOCATION 10 WE HAVE A

;*POINTER HERE, IF THIS CONDITION CAUSES A TRAP T0 LOC. &

:*HE WILL REPORT [T IN THE SAME MANNER THAT WE WOULD

s*REPORT ANY OTHER ERROR.

s*]1F A BUSS ERROR TRAP DID OCCUR AND CAUSE A TRAP TO &4,
s*WE WILL HALT.

IOTRD: MOV (6),TRTO :GET WHERE WE CAME TO.

sus #6,TRTO :FORM REAL ADDR.
grg 5270,'1000 :DID TRAP COME FROM LESS THAN ADDR. 1000?

1$: HALT :NO!  MUST BE A BUSS ILLEGAL ADDR. TIME OUT.
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g;}? ; ADDRESS CONTAINED IN TRTO.
6712 012112 000776 BR 19 :DON'T ALLOW A CONTINUE.
g;}z 012114 2%:
g;}g 012114 016637 000004 012134 MOV 4(6),TRFRO :GET TRAPPED FROM ADDR.
g;}g 012122 062706 000004 ADD 86 ,SP J/ADD #4 TO STACK POINTER.
6719

2:9888888388>>> ERROR <<<$3$833388$

(1)
(1) 012126 104007 ERROR 7 :/MODULE FAULT DETECTED:

6720 JERROR! ILLEGAL INTERRUPT
6721 :0R INTERRUPT TO WRONG
6722 :VECTOR ~ ]F TEST NUMBER
6723 ;1S LESS THAN 10, ITS LIKELY
6724 J(BUT NOT EXCLUSIVELY) TO BE A
6725 JDEVICE OTHER THAN THE I8vV-11
6726 :TO BLAME.
6727 JIF THE INTERRUPT OCCURRED
6728 :DURING AN INTFRRUPT TEST, I'D
6729 JSUSPECT A PROBLEM WITH THE
6730 ;18v-11,
6731 s1F THE ADDRESS THE INTERRUPT
6732 JVECTOR TO IS WITHIN THE RANGE
6733 ;OF VECTORS ASSIGNED TO THE l8v-11,
6734 JTHEN I°D SUSPELT THE IBvV-11
6735 s INTERRUPTED JLLEGALLY.
6736 s1F THE ADDRESS THE INTERRUPT
6737 JVECTORED TO IS OUTSIDE OF THE
6738 :RANGE ASSIGNED TO THE IBvV-11,
6739 :1°D SUSPECT THAT THE
6740 ;I18v=11 PUT THE WRONG VECTOR ON
6741 :THE BUSS DURING THE INTERRUPT
6742 sPROCESS.
6743 :FOR THIS ERROR = DON'T
6744 JUSE ‘LOOP ON ERROR'' OPTION.
6745 JALSO EXPECT THE INTERRUPT TEST TO
6746 JREPORT THAT THE IBv-11 DIDN'T
6747 JINTERRUPT.
6748 JFOLLOW RECOMMENDED PROCEDURE
6749 :IN THE DOCUMENT (ON THIS DIAGNOSTIC)
6750 :FOR LOOPING ON ERROR

2:88885888888°% ERROR ~~*3$35333338S
2;2% 012130 000002 RTI
6754 012132 000000 TRTO: WORD O cADDR THAT WE INTERRUPTED TO
g;gg 012134 000000 TRFRO: .WORD O JADDR THAT WE INTERRUPTED FROM.
6??; .SBTTL TRAP DECODER
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(H :«THIS ROUTINE WILL PICKUP THE LOWER BYTE OF THE ‘'TRAP'* INSTRUCTION
(1) J*AND USE IT TO INDEX THROUGH THE TRAP TABLE FOR THE STARTING ADDRESS
N :*OF THE DESIRED ROUTINE. THEN USING THE ADDRESS OBTAINED IT wiLL
f}; <GO TO THAT ROUTINE.
(1) 012136 010046 $TRAP: MOV RO,=(SP) ::SAVE RO
(1) 012140 016600 000002 MOV 2(SP) RO S:GET TRAP ADDRESS
(1) 012144 005740 ST =(R0) ::BACKUP BY 2
(1) 012146 111000 MOVB (RO) ,RO 23GET RIGHT BYTE OF TRAP
(1) 012150 006300 ASL RO ::POSITION FOR [NDEXING
(1) 012152 016000 012172 MOV $TRPAD(RO) ,RO  ::INDEX TO TABLE
2}; 012156 000200 RTS RO ::GO TO ROUTINE
(1)
§}§ ;;THIS 1S USE TO HANDLE THE '‘GETPRI'’ MACRO
(1) 012160 011646 $TRAP2: MOV (SP) ,=-(SP) 2:MOVE THE PC DOWN
(1) 012162 016666 000004 000002 MOV 4(SP),2(SP) ::MOVE THE PSW DOWN
g}; 012170 000002 RTI ;;PESTORE THE PSW
gg; .SBTTL TRAP TABLE
(%) ;*THIS TABLE CONTAINS THE STARTING ADDRESSES OF THE ROUTINES CALLED
g%; :*BY THE °‘'TRAP'' INSTRUCTION.
g; : ROUTINE
(3) 012172 012160 $TRPAD: .WORD $TRAP?2
(3) 012174 011160 $TYPE  ;:CALL=TYPE TRAP+1(104401) TTY TYPEOUT ROUTINE
(3) 012176 010532 $TYPOC ::CALL=TYPOC  TRAP+2(104402) TYPE OCTAL NUMBER (WITH LEADING 2EROS)
(3) 012200 010506 $TYPOS ,,;CALL=TYPOS TRAP+3(104403) TYPE OCTAL NUMBER (NO LEADING ZEROS)
(3) 012202 010546 STYPON ::CALL=TYPON  TRAP+4(104404) TYPE OCTAL NUMBER (AS PER LAST CALL)
g?; 012206 010734 $TYPDS ::CALL=TYPDS  TRAP+5(104405) TYPE DECIMAL NUMBER (WITH SIGN)
g?; 012206 010002 $GTSWR ;;CALL=GTSWR  TRAP+6(104406) GET SOFT-SWR SETTING
(3) 012210 007732 $CKSWR ::CALL=CKSWR  TRAP+7(104407) TEST FOR CHANGE IN SOF T-SWR
(3) 012212 010214 $SRDCHR ::CALL=RDCHR  TRAP+10(104410) TTY TYPEIN CHARACTER ROUTINE
6;2; 012214 010334 SROLIN ::CALL=RDLIN  TRAP+11(104411) TTY TYPEIN STRING ROUTINE
g;gg .SBTTL MESSAGES AND TABLES
6761 012216 005007 044415 051502 EM1: LASCI2<7><12><15>#18S FUNCTION ERROR#
012224 043040 047125 052103
012232 047511 020116 051105
6762 012240 047522 000122
6763 012244 005007 044415 042102 EM2: JASCIZ<7><12><15>#1BD FUNCTION ERRORA
012252 043040 047125 052103
012260 047511 020116 051105
6760 012266 047522 000122
6765 012272 005007 044415 051502 EM3: JASCIZ<75<12><15>#1BS DATA ERROR#
012300 062040 052101 020701
012306 051105 047522 000122

6766
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6767 012314 005007 044415 062102 FM4: <ASCIZ<?7><12><15>#1BD DATA ERROR#
012322 042040 052101 020101
6768 012330 051105 047522 000122
6769 012336 100007 041111 027523 EMS: <ASC1¢<7><200>#1BS/1B0 ADDRESS ERROR#
012344 041111 020106 042101
012352 051104 051505 020123
012360 051105 047522 000122
6770 012366 100007 041111 041527 EM6: LASCIZ <7><200>#1BwC/IBCA DATA ERROR#
012374 044457 041502 020101
012402 040504 040524 042440
6771 012410 051122 051117 000
, 6772 012415 007 044600 052116 EM?7: ASCIZ <7><200>#INTERRUPT ERROR#
012422 051105 052522 052120
012430 042440 051122 051117
6773 012436 000
6774 012437 200 042524 052123 DH1: <ASCIZ<CRLF>#TEST ERRPC  IB ADR  IBS 180#
012444 020040 020040 051105
012452 050122 020103 020040
012460 041111 040440 051104
012466 020040 044440 051502
012474 020040 020040 044440
6775 012502 042102 000
6776 012505 200 042524 052123 DH3: <ASCIZ<CRLF>#TEST ERRPC  GOOD BAD#
012512 020040 020040 051105
0125¢. 050122 020103 020040
012526 047507 042117 020040
6777 012534 020040 040502 000104
6778 012542 052200 051505 020124 DHS: <ASCIZ <CRLF>#TEST ERRPC |8 ADDR#
012550 020040 042440 051122
012556 041520 020040 044440
012564 020102 042101 051104
6779 012572 000
6780 012573 200 042524 052123 DH7: ASCIZ <CRLF>#TEST ERRPC TO FROM ADDR.#
012600 020040 020040 051105
012606 050122 020103 020040
012614 047526 020040 020040
012622 020040 051106 046517
012630 040440 042104 027122
012636 000
6781
g;g% 012640 .EVEN
g;gé 012640 001200 001116 001346 DOT1: .WORD  STESTN,S$FRRPC,IBS
g;gg 012646 000000 IBSA:  .WORD 0
g;gg 012650 000000 000000 IBDA:  .WORD 0,0
6790 012654 001200 001116 001126 DT13: .WORD  STESTN,SERRPC,$GDDAT,$BDDAT,0

012662 001126 000000
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001200
000000

001200
012134

000000

012714
000100
012714
000300
000140
170000
000300
012714
104401
000000
005015
020103
051122
020055
047117
046040
000001

MACY11 30(1046)

15:35

001116

001116
000000

000000

012722

045514
047111
050125
044504
042516
041524

001346

012132

042526
042526
020124
041523
052103
000040

G
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MESSAGES AND TABLES SEQ 0058
DTS5: .WORD  STESTN,SERRPC,IBS.0
DT7: .WORD  STESTN,SERRPC,TRTO,TRFRO,0

DFO: .WORD 0,0

:THE FOLLOWING CALL TO CNMACZ2.SML LIBRARY WAS ADDED TO INIT 11/21
sSPECIFIC VECTORS.

90%85=. :SAVE POINTER

$CLKVEC sLKVEC HANDLER

300 s INTERRUPT HANDLER PRI
.=140 sBRKVEC

170000 :0ODT START ADDRESS
300 sPRIORITY

.=POINT sRESTORE POINTER
$CLKVEC: TYPE ,CLKMES

HALT
CLKMES: .ASCIZ <15><12>/LKVEC INTERRUPT - DISCONNECT LTC /

.END
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ABASE =
ACDWY =
ACDW2 =
ACPUOP=
ADDWO =
ADDW1 =
ADDW10=
ADDWI1=
ADDW12=
ADDW13=
ADDW14=
ADDW15=
ADDW?Z =
ADDW3 =
ADDW4L =
ADDWS =
ADDW6 =
ADDW? =
ADDWSB =
ADDW9 =
ADEV(T=
ADEVA =
AENV =
AENVA =

AUSWR =
AVECT1=

AVE(T?
BITO
81100
BITO1

174100
000000
000000
000000
0000M)
000V00
000000

000000
000320

000000
000001
000001
000002

10-DEC-82

1 3001046)

5732

5732
66804
6679
6680
66804

5732
5876

6057

15-DEC-82

5854

66804

5858
5877

6058

5855 5856

5859 5860
5878 5879

6067 6137

16:09 PAGE 60
CROSS REFERENCE TABLE == USER SYMBOLS

5857

5861

6238

5862

5864

6341

5863

5865

6366

5866

6421

5867

6644

5871

5872

SEQ 0059

5873
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31702 = 000004 5719¢ 6099 6100 6109

BIT03 = 000010 5719¢ 6120 6121 6125

BIT04 = 000020 57194

BITOS = 000040 57194

BIT06 = 000100 5719¢ 6610

BIT07 = 000200 57190

BITO8 = 000400 57198 6672

BIT09 = 001000 5719 6670 6672

BIT1 = 000002 5719¢ 6078 6079 6088 6239 6343

BIT10 = 002000 5719¢ 6058 6137 6348 6356 6670

BIT11 = 004000 57198 6672

BIT12 = 010000 5719 6337

BIT13 = 020000 5719#¢ 6339 65664 6576 6578 659 6670

BIT1& = 040000 5719¢ 6341 6370 6672

BIT1S = 100000 5719 6343 6538

BIT2" = 000004 57194 6240 6337 6592 6612

BIT3 = 000010 5719 6241 6339 6390 6391 6573 6577

BIT4 = 000020 S719% 6238 6239 6240 62641 6242 6243 6264 6245 6272 6282 6402 6436

BITS = 000040 S7T19 6147 6148 6158 6238 6239 6240 6261 6242 6243 6244 6265 6272
6282 6366 6602 6636 6472 6515 6644

BIT6 = 000100 57198 6172 6173 6183 6264 6421 6437 6472 6515

BIT? = 000200 5719¢ 6193 619 6203 6245 6272 6355 6402

BIT8 = 000400 57198 6265 6284

BIT9 = 001000 5719¢ 6148 6275 6290

BPTVEC= 000014 5719#

BRKVEC= 000140 5719#

(KSWR = 104407 6670 6672  6757H

CLKMES 012722 68014

R = 000015 5719¢ 6679

CRLE = 000209 5719 5937 6679 677 6776 6778 6780

DDISP = 177570 5719¢ 5732 5886

DELSO 007106 6134 66694

DFO" 012710 5743 5750 5757  S?64 5771 S7IB  S784 67964

DH1 012437 57641 5748 6774

DH3 012505 5755 5762 5776 67764

DH5 012542 5769 67784

DH? 012573 5782 67804

DISPLA 001142 57300 5886+ 6670 6672+

DISPRE 000174 57114 5886

DSWR = 177570 5719# 5732 5886

pT1 012640 5762 5749 6784

DT3 012654 5756 576X  S777 67904

DTS 012666 5770 67924

DT? 012676 5783 67944

EMTVEC= 000030 5719#  5886¢

Em 012216 5740 67614

EM2 012244 §747 67634

EM3 012272 5754 67654

EMe 012314 5761 67674

EMS 012336 5768 67694

EM6 012366 5775 67704

EM7 012415 5781 6772

EOP 006764 6507 66644

ERRVEC= 000004 57194 5886+ 5887« 5888+ 5946 5947+ 5953+ 5967+ 5980 5981+ 5987« 6005+ 6672+

GNS = teeees 5937 6757
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GTSWR = 104406 5937 67574

HT = 000011 57194 6679

IBCA 001354 58574 5895+ 5896+ 5989 6047

180 001350 58554 5891« 5892« 5893 5900 5955 6023 6238 6239+ 6240  6241¢  6242¢ 62430
62440 6245+ 62500 6252 62642 6265 6273« 6274 6283 6284 6270 6337 6339
6341 6343 6348 6356 6368+ 6403+ 6405 6453« 6473 6646

18DA 012650 5900+  6788#

1802 001370 58634 5901« 5902« 6647

18S 001346 58544 5890« 589 5899 5951 6012 6056 6057« 6059 6067+ 6069 6077« 6078+

6080 6088+« 6090 6098+ 6099+ 6101 6109« 61 6119« 6120« 6122 6125« 6126
6138 6146 6147+ 6149 6158« 6160 6170 6172« 6174 6183« 6184 6192« 6193+
6195 6203+ 6205 6238+ 6239 6240 6241+ 6242¢ 6243+ 6264t 6245+ 6249+ 6263+
6272+  06282* 6337+  6339r  6341c 6343 6347« 6355« 6365+ 6366 6370 6378+ 6380
6389+ 6390 63N 6393 66402 6418 6421« 64630v 6436 6437  b4L4r 6403 6468+

| 6472%  64B4r 6510 6531+ 6537 6552+ 6564 6572« 6574 6578 6590 6594 6605+
6610 6623y 6642 6644 6659 6784 6792

'1BSA 012646 5899« 67864

1852 001366 5862# 5901 6511+ 6515«  6525¢ 6532+ 6538+ 6553« 6559« 6560 6573« 6577+  6591¢
6590 6604  6612*  6622¢ 6643+ 6645t 6660

IBWC 001352 58564 5893+ 5894+ 5895 5984 6039

I0TRD 012066 5709 5887  6703#

10TVEC= 000020 57194 5886+

LF = 000012 5719¢ 6679

LKVEC = 000100 57190

ODTST = 170000 57198

PIRQ = 177772 57190

PIRQVE= 000240 57198

POINT = 012714 68014

PRA 001402 58714 5916+ 5917« 5918 5933« 6469+ 6485+ 6607+  6621¢

PRA2 001412 58764 5924* 5925+  §926

PRB. 001404 5872# 5918« 5919« 5920  5934e  6534¢  6551e

PRB2 001414 58774 5926% 5927« 5928

PRC 001406 5873¢  5920¢ 5921+ §922  5935¢  6419¢  6431e  6434s 6445 6449e

PRC2 001416 5878 5928+ 5929« 5930 6512+  6526¢

PRD. 001410 58764 5922+ 5923¢ 5936 6450 6464t

PRD2 001420 58794 5930« 5931«

PRO. = 000000 57190

PR1 = 000040 57190

PR2 = 000100 57194

PR3 = 000140 57194

PRG = 000200 57190

PRS = 000240 572198

PR6 = 000300 5719¢ 5886 6681

PR7 = 000340 5719#

pPs = 177776 5719#

Psw = 177776 5719#

PWRVEC= 000024 57198  S886% 6681+

RDCHR = 104410 8673 67578

ROLIN = 104411 67578

RESVEC= 000010 57194

RSTART 002266 59320 6668

STACK = 001100 57192 5886

START 001422 5717 58864

STKLMT= 177774 5719

SwR 001140 57320  5886% S937 6670 6672 6673« 6681¢

SWREG 000176 5712¢ 5886 5937 6673




K

MAINDEC=11=CNIBA=A MACY1T 30(1046) 15-DEC-82 16:09 PAGE 60-3
CNIBAA.P1 10-DEC~82 15:35 CROSS REFERENCE TABLE == USER SYMBOLS SEQ 0062
SWw0 = 000001 57194

Sw00 = 000001 S7194

Sw0l1 = 000002 57194

sSw02 = 000004 5719#

sSw03 = 000010 57194

SWw04 = 000020 57194

Sw05 = 000040 57194

Sw06 = 000100 57194

sw07 = 000200 57194

sw08 = 000400 S719#

sw09 = 001000 57194

sw1 = 000002 57194

Sw10 = 002000 57194

SW11 = 004000 57194

swi12 = 010000 57194

swi13 = 020000 57194

SWwi4 = 040000 S719#

swi5 = 100000 57154

sw2 = 000004 57194

Sw3 = 000010 57194

Swé = 000020 S7194

SwS = 000040 57194

swé = 000100 57194

Sw7 = 000200 57194

sw8 = 000400 57194

SW9 = 001000 57194

TBITVE= 000014 57194

TKVEC = 000060 57194

TPVEC = 000064 57194

TRAPVE= 000034 57194 5886+

TRFRO 012134 6715« 67554 6794
TRTO 012132 6703+ 6704 6706 6754% 6794
TRTVEC= 000014 57194

TST1 002444 59404

1ST10 003156 6086 60N 60964
TST11 003246 6107 6112 61174
1ST12 003372 6132 6140 61444
TST13 003462 6156 6161 61664
TST14 003564 6180 6185 61904
TST1S 003654 6201 6206 62384
TST16 003746 6238 62394

TST17 004040 6239 62400

TST2 002570 59784

TST20 004132 6240 62414

TST21 004224 6241 62424

TST22 004316 6242 62434

TST23 004410 62435 62444

TST264 004502 6244 62454

TST25 004574 6245 62474

TST26 004626 6253 62614

TST27 004752 6270 6280 6289 6291 63374
TST3 002654 60074

TST30 005040 6337 6339

TST31 005130 6339 63414

TST32 005216 6341
TST33 005304 6343 63454
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TST364 005346
TST35 005400
TS136 005430
TST37 005476
TST4 002704
TST40 005534
TST41 005632
TST42 006034
TST43 006152
TST44 006266
TST4S5 006402
TST46 006426
1S147 006500
TSTS 002734
TST50 006532
TSTS1 Q06646
T1S152 006762
TSY6 002776
1S17 003066
TYPDS = 104405
TYPE = 104401
TYPOC = 104402
TYPON = 104404
TYPOS = 104403
VECTA 001356
VECTAZ 001372
VECTB 001360
VECTB2 001374
VECTC 001362
VECTC2 001376
VECTD 001364
VECTDZ2 001400
$SAPTHD 001000
SASTAT= wennne
$SATYC 011466
SATY? 011442
SATY3 011450
$SATYS 011460
SAUTOB 001134
$BASE 001250
$BDADR 001122
$BDDAT (001126
$BELL 001164
$COWT 001254
$CHARC 011436
$CKSWR 007732
$CLKVE 012714
$CMTAG 001100
$CM3 = 000000
S$CNTLG 010457
$CNTLU 010452
$CPUOP (001222
$CRLF 001171

10-DEC-82 15:35

6353
6371
6381
6394
6013
6406
64330
6446
64914
6528#
65554
6565

6357

63764
63874
64004
60184
64164

64664

6570#

6670

6363

6586#

60544
60754

6670
67574

5898+
5924

5904+
5910+
5906+
5912+
5908+«
5914

6671

6039«
6126+
6238+
6648

6673

6673

5916
5934+
5935+

6513+
6451+

6679

L
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6675

5933+
6535+

6420+
6526+
6464+

6059+
6138«
6240

6678

6470+
6551+
6631

6060
6139
(241

6679

6485+

6435+

6069+
6149+
6242+

6681

6608+

64457

6757#

6621+

6449

6081
6160+
6244

6801

6090+
6174+
6245+

6101+
6175
6252+

SEQ 0063

6102
6184~
6274+
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$0BLK 011150 66784

$DEVCT 001204 57324

SDEVM 001252 57324

$DOAGN 007062 66684

$OTBL 011140 66784

$SENDAD 007052 5726 66684

S$ENDCT 007020 66684

SENDMG 007071 66684

SENULL 007066 66684

SENV 001214 57324 5937 6670 6679 6680

pim s g e @n

$EOPCT 007012 66684

SERFLG 001103 57328 6670+ 6672+

pew g g e oo
T O
$ERRTY 007314 6670 66714

SERTTL 001112 57320 6670+

Rae e g N e e

SETEND 001256 5730 S732#

SFATAL 001176 57324 6680+

S$FFLG_ 011706 66804+

SFILLC 001156 57324 6679

$FILLS 001155 57324 6679

$GDADR 001120 57324

$GDDAT 001124 57324 6011+« 6022+ 6038+ 6058+ 6060 6068+ 6079+ 6031 6089+« 6100 6102 6110+

6121 6123 6127 6137« 6139 6148+ 6150 6159 6173+ 6175 6182« 6194+ 6196
6204 6238+  6239r  6240% 6241+ 6242+ 6243+  6244r 6245+ 6251t 6639+ 6646 6648

6656¢ 6790
$GET42 007042 66684
$GTSWR 010002 66734 6757
$HD_ = 000001 5686
$HIBTS 001000 57304
SICNT 001104 57320 6672+
$ILLUP 012050 66814
$INTAG 001135 57320 6673
SITEMB 001114 57320 6670% 6671
SLF 001172 57324 6670 6673 6679
SLFLG 011705 66804+
SLPADR 001106 57324 5886% 5940t 6672+
SLPERR 001110 57304  5886% 5944+ 6638t 6670 6672+
SMADR1 001226 57324
SMADR2 001232 57324
SMADR3S 001236 57320
SMADRG 001242 57324
SMAIL 001174 5730 57324 5886 5937 6670 6672 6679
SMAMS1 001224 57324
SMAMS2 001230 57324
SMAMS3 001234 57320
SMAMS4 001240 57320
SMBADR 001002 57304
SMFLG 011704 66804 *
SMNEW 010475 66734
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S$MSGAD 001210 57324 6680+

$MSGLG 001212 57324 6680+

$MSGTY 001174 57324 6680+

SMSWR 010464 66734

sMTYP1 001225 57324

SMTYP2 001231 57324

$MTYP3 001235 57324

SMTYP4L 001241 57324

SMXCNT 007730 66724

SNULL 001154 57324 6679

SNWTST= 000001 59404 5978 6007# 60184  6036# 60548 60754 60964 61174 6144k 61664 61904 6238
62398 62608 62414 62428 62438  6244M 62458 62478 62614 6337Th 63394 63414 63434
63454 63634 63768 63878 64008  6L168 64334 6L66N 64914 65288 65554 65704 65864
66004 66364 66624

SOCNT 010730 66754

$OMODE 010732 66750

SOVER 007714 66724

$PASS 001202 57324 5886+ 6668+ 6672

SPASTM 001006 S7304

SPOWER 012056 66814

$PWRN 011710 5886 66814

SPWR* 5 012044 66814

SPWRUP 011762 66814

$QUES 001170 57324 6670 6673 6679

$RDCHR 010214 66738 6757

SRDDEC= twesses | 6757

SROLIN 010334 66734 6757

SRDOCT= wwener | 6757

$RDSZ = 000010 66734

SRTNAD 007064 6668#

SR2A = werwex |J 6757

$SAVRE= teewer | 6757

$SAVR6 012054 66814+

$SCOPE 007450 5886 66724

$SETUP= 000117 58844 5886 5937 6668 6670 6672 6673

$STUP = 177777 5884#

$SVLAD 007660 66724

$SVPC = 000204 57264

$SWR = 167400 5684# 5686 5689 5732 5886 5940 5978 6007 6018 6036 6054 6075 6096
6117 6144 6166 6190 6238 6239 6240 6241 6242 6243 6244 6245 6247
6261 6337 6339 6341 6343 6345 6363 6376 6387 6400 6416 6433 6466
6491 6528 6555 6570 6586 6600 6636 6662 6668 6670 6672 6681

$SWREG 001216 57324 5886

$SWRMK= 000000 5689 6672

S$TESTN 001200 57324 5943« 6672+ 6784 6790 6792 6794

$TIMES 001160 57324 5886+ 5940« 5978+ 6007« 6018+« 6036 6376* 6387+ 6400v 6570+ 6668+ 6672+

$7kB 001146 57324 6673

$TKS 001144 57324 6673

$TN = 007053 56864 57244 59404 59784 6007# 6013 60184 6024 60364 6045 6048 6054# 6065
6070 6075# 6086 6091 60964 6107 6112 61174 6132 6140 61448 6156 6161
61664 6180 6185 61904 6201 6206 62384  6239¢ 6240 6241k 62428 6243k 644N
62454 62474 6253 62614 6270 6280 6289 6291 6337# 63394 6341k 63434 63454
6353 6357 63634 6371 63764 6381 6387 6394 6400# 6406 64168 64334 6446
6L66N 649X 6528# 65554 6565 65704 6576 6579 65864 6595 66004 66364 6654

$1PB 001152 57324 6679+
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STPFLG
$TPS
STRAP
STRAP?
$TRP =
$TRPAD
$TSTM
STSTNM
STTYIN
$TYPBN=
$TYPDS
S$TYPE
$TYPEC
$TYPEX
$TYPOC
$TYPON
$TYPOS
SUNIT
SUNITM
$USWR
$VECT1
$VECT?
SXTSTR
$SGET4=
SOFILL
$4OCAT

O NSO NN
SNNOOCO

000000
010731

ke ee

012766

L A8 848

= 001000
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5942« 6668+ 6670 6672+

6757
6680 6757
66794

6672
5704 57054  5708¢ 5710#
6670 66714 6672 6673#

57134 S7164 57264
66784 6679 66804

5728#
6681

5730#
67824

57324
6801#

5886

SEQ 0066

5937#
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BDT 62114 6238 6239 6240 6241 6242 6243 6244 6245

COMMEN 15664 5719«

DELMA 58304 6669

DFC S736x 5743 5750 5757 5764 5771 5778 5784

ECB 58014 5962 5966 5996 6003 6016 6027 6044 6052 6064 6073 6085 6094 6106 6115
6131 6143 6155 6164 6179 6188 6200 6209 6238 6239 6240 6241 6242 6243 6244
6245 6259 6269 6279 6288 6294 6337 6339 63461 6343 6352 6360 6374 6385 6398
6410 6427 6443 6459 6481 6522 6546 6568 6584 6598 6617 6653 6751

ENDCOM  1578» 5719«

ERC 5786 5959 5964 5993 6000 6014 6025 6041 6049 6062 6071 6083 6092 6104 6113
6129 6141 6153 6142 6177 186 6198 6207 6238 6239 6240 6241 6242 6243 6244
6245 6254 6267 ¢277 6286 6292 6337 6339 6341 6343 6350 6358 6372 6382 6395
6407 6425 6441 0457 6479 6518 6543 6566 6580 6596 6615 6650 6719

ERROR 57194 5959 5964 5993 6000 6014 6025 6041 6049 6062 6071 6083 6092 6104 6113
6129 6161 6153 6162 6177 6186 6198 6207 6238 6239 6240 6241 6242 6243 6244
6245 6254 6267 6277 6286 6292 6337 6339 6341 6343 6350 6358 6372 6382 6395
6407 6425 64461 6457 6479 6518 6543 6566 6580 6596 6615 6650 6719

ESCAPE  1698# 5715«

GETPRI  1312# 5

GETSWR 17714 §;19# 59374
5

MULT L4LBLN

NEWTST  1626# 6096 6117 6144 6166 6190 6238
6337 6339 6341 6343 6345 6363

6376 6387 6400 6416 6433 6466 6491 6528 6555 6570 6586 6600 6636 6662

POP 21534 57194 6678 6680 6681

POPSP2 58124 5958 5963 5992 5999 6429 6448 6462 6483 6524 6549

PR 58164 5968 6168 6422 6438 6452 6471 6476 6514 6536 6611

PUSH 21454 57194 6678 6680 6681

REPORT 54634 57194

RESV 58244 5933 5934 5935 5936 6431 6445 6449 6464 6485 6526 6551 6621

SCOPE 57194 5978 6007 6018 6036 6054 6075 6096 6117 6144 6166 6190 6238 6239 6240
6241 6242 6243 6244 6245 6247 6261 6337 6339 6341 6343 6345 6363 6376 6387
6400 6416 6433 6466 6491 6528 6555 6570 6586 6600 6636 6662 6668

SETPRI  1279%  S719#

SETTRA 67574

SETUP 1337# 57194 5886

SIGC 6295# 6337 6339 6341 6343

SKIP 1733¢ 57194 6013 6024 6045 6048 6065 6070 6086 6091 6107 6112 6132 6140 6156
6161 6180 6185 6201 6206 6238 6239 6240 6241 6242 6243 6244 6245 6253 6270
6280 6289 6291 6337 6339 6341 6343 6353 6357 6371 6381 6394 6406 6446 6565
6576 6579 6595 6654

SLASH 15174  S719«4

SPACE 57194

STARS 14854 5719¢ 5726 5730 5732 5940 5978 6007 6018 6036 6054 6075 6096 6117 6144
6166 6190 6238 6239 6240 6241 6242 6c43 6244 6245 6247 6261 6337 6339 6341
6343 6345 6363 6376 6387 6400 6416 6433 6466 6491 6528 6555 6570 6586 6600
6636 6662 6668 6670 6671 6673 6675 6678 6679 6680 6681 6757

SWRSU 14534 57194 58864

TRMTRP 67574

TYPBIN 2088#¢ 5719«

TYPDEC 2058% 57194 6668

TYPNAM 18264 57194 5937

TYPNUM 20254 57194

TYPOCS 19784 56804 5719#

TYPOCT 19414 57194 6671 6673

TYPTXT 18944 57194
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Y1
35
29 6557 6571 6588 6602
29% 6036 66254 6636

MAINDEC=11=(NIBA-A MAC
CNIBAA.P11 10-DEC-82 1

A
5
WARN 64934 6503 6
2 59704 5978 6
$SCMRE 57324

SSCMTM 57324

SSESCA 17114 57194

SENEWT  1662# 57194 5940 5978 6007 6018 6036 6054 6075 6096 6117 6144 6166 6190 6238
6239 6240 6241 6242 6243 6244 6245 6247 6261 6337 6339 6341 6343 6345 6363
6376 6387 6400 6416 6433 6466 6491 6528 6555 6570 6586 6600 6636 6662

$SSET 67574

$SSETM 58864

SSSKIP 17464 S719% 6013 6024 6045 6048 6065 6070 6086 6091 6107 6112 6132 6140 6156
6161 6180 6185 6201 6206 6238 6239 6240 6241 6242 6243 6244 6245 6253 6270
6280 6289 6291 0337 6339 6361 6343 6353 6357 6371 6381 6394 6406 6446 6565
6576 6579 6595 6654

.EQUAT 1894  5680¢ 5719

-HEADE 614 5679% 5686

<INIT S658¢ 57194 6801

LSETTR 56794

LSETUP 12134 5679# 5884

. SWRHI 1044 56814 5689

.SWRLO 56894

-TRMTR  5679#

LSACTY 5064 56834 5726

.SAPTB 51094 5732#

.SAPTH 53704 5683# 5730

LSAPTY 55474 56834 6680

SASTA 54174

-SCATC 9324 56804

LSCMTA 10474 56814 5732

.8DB2D 46864

.$0B20  4812#

.SDIV 45874

.SEOP 22144 56814 6668

.SERRO 27004 5681# 6670

.SERRT 28964 56814 6671

JSMULT 45234

JSPOWE 42294 56804 6681

JSRAND 43074

.SRODE  3891#

LSRDOC 37974 5679

.SREAD 33954 5682# 6673

-SR2AZ 49584

.$SAVE 39694

.$5B2D 47714

.$SB20  4874#

LSSCOP 24544 56828 6672

SSIZE 43614

.SSUPR 49134

.STRAP 40734 5679# 6757

.STYPB 32874 56804

LSTYPD 32094 56824 6678

STYPE 29854  5682#¢ 6679

LSTYPO 31124 56804 6675

.$40CA 9724
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. ABS. 012766 000

ERRORS DETECTED: O

CNIBAA,CNIBAA/CR/NL : TOC=CNMAC2.SML ,(NIBAA P11
RUN-TIME: 16 14 1 SECONDS

RUN-TIME RAT]O: 71/32=2.1

CORE USED: 33k (66 PAGES)




